











3 4 5 6 7 8 9 10 11 12 13 14 15
5,15*3,34 -1,38%0,12
7 | >Kvnas komHaTa -1,32*0,12 -1,40*0,12 16,5 16,5 | 16,5 2,78
-1,31*0,12
8 KyxHs 2,90*4,66 -1,37*0,56 12,7 12,7 12,7 2,78
0,76*2,98*0,30
9 BarnkoH +(2,27+2,98)/2*0,74*0,30 1,2 1,2 2,78
-0,22*0,52*0,30
Wtoro no k.. 379:| 87,3 86,1 52,0 | 34,1 1,2
5,38*2,16 -1,74*0,44
446 | 1 Xonn -0,36"2.63 9,9 9,9 9,9 2,78
2 CaHysen 1,80*1,65 3,0 3,0 3,0 2,78
3 CaHysen 0,88%1,20 1,1 1,1 1,1 2,78
3,48*2,98 -1,69%0,57
4 KyxHs 1.40°0,12 9,2 9,2 9,2 2,78
5 | >Kvnas komHaTa 4,58%4,12 18,9 18,9 | 18,9 2,78
3,70*3,79 -1,39*0,12*2,00
6 YXnnas komHaTa -0,49%0.12 13,6 13,6 | 13,6 2,78
7 Xunas komHaTa 2,99%5,59 16,7 16,7 16,7 2,78
2,80*0,72*0,30
8 BankoH +(2,05+2,80)/2*0,80*0,30 1,2 1,2 2,78
-0,46*0,24*0,30
3,00%0,78*0,30
9 BankoH +(2,35+3,00)/2*0,70%0,30 1,2 1,2 2,78
-0,58%0,24*0,30
Wtoro no k.. 446:| 74,8 72,4 | 49,2 | 23,2 2,4
447 | 1 Xonn 2,80*5,12 -1,62*3,32 9,0 9,0 9,0 2,78
2 Xunas komHaTa 3,34*5,58 -1,31*0,12 18,5 18,5 18,5 2,78
3 KyxHs 3,98*3,11 -1,44*0,43 11,8 11,8 11,8 2,78
4 Xunas komHaTa 3,10%4,01 12,4 124 | 124 2,78
5 [apaepobHas 1,18*2,78 3,3 3,3 3,3 2,78
6 CaHysen 1,91*1,52 2,9 2,9 2,9 2,78
7 CaHysen 1,08%1,24 -0,47*0,44 1,1 1,1 1,1 2,78
8 TNopxusa 3,07*1,49*0,50 2,3 2,3 12,78
Wtoro no k.. 447:| 61,3 59,0 | 30,9 | 28,1 2,3
3,40*3,37 -2,00%1,33
448 | 1 Xonn 1.09°0.13 8,5 8,5 8,5 2,78
2 YKnnas komHaTa 3,21%5,62 18,0 18,0 | 18,0 2,78
3 CaHysen 1,73*1,84 3,2 3,2 3,2 2,78
4 CaHysen 0,87*1,24 1,1 1,1 1,1 2,78
3,65*3,34 -1,38%0,13
5 KyxHs -0.13%0,09 12,0 12,0 12,0 2,78
6 Xunas komHaTa 3,09%4,98 15,4 154 | 154 2,78
5,63*1,45*0,50
7 TNomxnsa -0,.24*0,23*0 50 4.1 41 12,78
WUtoro no k.. 448:| 62,3 58,2 | 33,4 | 24,8 4,1
4,43*2,02 +3,24*1,13
449 | 1 Xonn -0.36"0.13 12,6 12,6 12,6 2,78
2 Xunas komHaTa 6,28*3,20 -1,41*0,12 19,9 19,9 19,9 2,78
3 KyxHs 3,22*4,18 -1,52*0,44 12,8 12,8 12,8 2,78
4 Xunas komHaTa 4,25*2 .95 12,5 125 | 12,5 2,78
5 CaHysen 1,34*1,43 -0,45*0,46 1,7 1,7 1,7 2,78
6 CaHysen 1,88%1,90 3,6 3,6 3,6 2,78
1,29%2,91*0,50
7 TNopxusa +(2,23+1,29)/2*0,97*0,50 3,2 3,2 12,78
+0,69*1,29*0,50
Wtoro no k.. 449:| 66,3 63,1 32,4 | 30,7 3,2
4,86*3,12 -1,88*2,99
450 | 1 Xonn +2,161.17 12,1 12,1 12,1 2,78
2 YKnnas komHaTa 5,54*2,80 15,5 15,5 | 15,5 2,78
3 apaepobHas 2,16*1,75 3,8 3,8 3,8 2,78
4 | XKunasa komHaTta 2,80%4,91 13,7 13,7 | 13,7 2,78
3,27*3,41 -0,57*1,73
5 KyxHs -0.13%0,13 -1,08°0.13 10,0 10,0 10,0 2,78
6 CaHysen 0,89*1,27 1,1 1,1 1,1 2,78
7 CaHysen 1,89%1,80 3,4 3,4 3,4 2,78
8 TNopxusa 1,31*2,73*0,50 1,8 1,8 [2,78
Wtoro no k.. 450:| 61,4 59,6 | 29,2 | 30,4 1,8
2,90*1,49 +4,72*0,99
521 | 1 Xonn £1,00°2.10 11,1 11,1 11,1 2,78
2 KyxHs 4,67%2,90 -0,58*1,37 12,8 12,8 12,8 2,78
5,15*3,42 -1,39*0,12
3 YXnnas komHaTa 132012 17,3 17,3 | 17,3 2,78
4 XKunas komHaTa 4,37°2,91 -1,300,12 12,5 125 | 12,5 2,78

-0,65"0,12




3 4 5 6 7 8 9 10 11 12 13 14 15
5 CaHysen 1,20*1,26 -0,49*0,44 1,3 1,3 1,3 2,78
6 CaHysen 1,70%1,82 3,1 3,1 3,1 2,78
7 | Xunas komHaTa 2,80*5,12 14,3 14,3 | 14,3 2,78
8 apaepobHas 1,93*2,11 -1,02*0,57 3,5 3,5 3,5 2,78
0,81*2,99*0,30
9 BankoH +(2,25+2,99)/2*0,73*0,30 1,3 1,3 12,78
-0,52*0,21*0,30
WUtoro no kB. 521:| 77,2 75,9 | 441 31,8 1,3
522 | 1 Xonn 2,10*3,02 -1,02*0,12 6,2 6,2 6,2 2,78
2 CaHysen 1,92*2,42 -0,46*0,79 4,3 4,3 4,3 2,78
3 | Xwunas komHaTa 3,30*5,78 19,1 19,1 19,1 2,78
3,60*3,01 -1,38*0,11
4 KyxHs -1,41%0 56 9,9 9,9 9,9 2,78
0,61*3,25*0,30
5 BankoH +(2,56+3,25)/2*0,69*0,30 1,2 1,2 12,78
-0,53*0,18*0,30
Wtoro no kB. 522: 40,7 39,5 | 191 20,4 1,2
523 | 1 Xonn 2,09*1,20 -1,11*0,12 2,4 2,4 2,4 2,78
2 Xunas komHaTa 2,99*5,78 17,3 17,3 | 17,3 2,78
3,61*3,12 -1,90*0,58
3 KyxHs 1.35°0.12 10,0 10,0 10,0 2,78
4 CaHysen 2,09%1,84 3,8 3,8 3,8 2,78
5 Tompxus 6,26*1,30*0,50 41 41 (2,78
WUtoro no k.. 523:| 37,6 33,5 | 17,3 | 16,2 4.1
524 | 1 Xonn 4,08*1,61 -2,17*0,63 5,2 5,2 52 2,78
2 CaHysen 2,10%1,82 3,8 3,8 3,8 2,78
3 KyxHs 3,61*2,90 -1,90*0,59 9,4 9,4 9,4 2,78
3,43*5,79 -1,39*0,13
4 YXnnas komHaTa ~1,000 13 19,6 19,6 | 19,6 2,78
5 [apaepobHas 1,30*1,89 25 25 25 2,78
0,62*3,22*0,30
6 BankoH +(2,55+3,22)/2*0,68*0,30 1,2 1,2 12,78
-0,53*0,16*0,30
WUtoro no k.. 524:| 41,7 40,5 | 19,6 | 20,9 1,2
2,89%1,51 +4,67*1,04
525 | 1 Xonn +2,10%0,97 11,3 11,3 11,3 2,78
2 [apaepobHas 1,43*1,85 2,6 2,6 2,6 2,78
3 | Xwunas komHaTta 5,08*2,81 14,3 14,3 | 14,3 2,78
4 CaHysen 1,76*1,87 3,3 3,3 3,3 2,78
5 CaHysen 1,20*1,25 -0,43*0,43 1,3 1,3 1,3 2,78
2,92*4,36 -1,28*0,13
6 YXnnas komHaTa -0,64%0 12 12,5 12,5 | 12,5 2,78
5,15*3,42 -1,32*0,13
XKunas komHaTa 138013 17,3 17,3 | 17,3 2,78
8 KyxHs 4,64*2,90 -1,39*0,57 12,7 12,7 12,7 2,78
2,98*0,78*0,30
9 BankoH +(2,27+2,98)/2*0,75*0,30 1,3 1,3 12,78
-0,16*0,53*0,30
WUtoro no kB. 525:| 76,6 75,3 | 441 31,2 1,3
2,90*1,50 +4,71*1,00
586 | 1 Xonn £1,00"2,19 11,3 11,3 11,3 2,78
2 KyxHs 4,66*2,90 -0,59*1,41 12,7 12,7 12,7 2,78
5,17*3,41 -1,40*0,12
XKunas komHaTa -1,33%0,13 17,3 17,3 | 17,3 2,78
4,39*2,93 -1,32*0,12
4 YXnnas komHaTa -0,64%0 12 12,6 12,6 | 12,6 2,78
5 CaHysen 1,30*1,23 -0,46*0,44 1,4 1,4 1,4 2,78
6 CaHysen 1,71*1,80 3,1 3,1 3,1 2,78
7 Xunas komHaTa 2,80%5,04 14,1 14,1 14,1 2,78
8 apaepobHas 1,92*2,14 -1,03*0,57 3,5 3,5 3,5 2,78
0,78*2,99*0,30
9 BankoH +(2,26+2,99)/2*0,75*0,30 1,3 1,3 12,78
-0,53*0,18*0,30
Wtoro no kB. 586: 77,3 76,0 | 44,0 | 32,0 1,3
587 | 1 Xonn 2,06*3,01 -1,03*0,12 6,1 6,1 6,1 2,78
2 CaHysen 1,91*2,38 -0,45*0,75 4,2 4,2 4,2 2,78
3 Xunas komHaTa 3,30*5,80 19,1 19,1 19,1 2,78
3,64*3,02 -1,38*0,58
4 KyxHs 1.40°0.12 10,0 10,0 10,0 2,78
0,63*3,22*0,30
5 BankoH +(2,55+3,22)/2*0,70*0,30 1,2 1,2 12,78
-0,53*0,19*0,30
WUtoro no k.. 587:| 40,6 39,4 | 191 20,3 1,2
[588 ] 1 Xonn | 2,09*1,22-1,10*0,12 2,4 24 24 2,78




3 4 5 6 7 8 9 10 11 12 13 14 15
2 YKnnas komHaTa 3,00%5,80 17,4 174 | 174 2,78
3,62*3,12 -1,91*0,56
3 KyxHs ~1.40°0.12 10,1 10,1 10,1 2,78
4 CaHysen 2,09*1,82 3,8 3,8 3,8 2,78
5 Tomxus 6,26*1,27*0,50 4,0 40 (2,78
Wtoro no kB. 588: 37,7 33,7 | 17,4 | 16,3 4,0
589 | 1 Xonn 4,06*1,65 -2,14*0,63 5,4 54 54 2,78
2 CaHysen 2,08*1,80 3,7 3,7 3,7 2,78
3 KyxHs 3,63*2,89 -1,88*0,57 9,4 9,4 9,4 2,78
3,42*5,77 -1,39*0,12
4 XKunas komHaTa -1,00%0.13 19,4 194 | 194 2,78
5 apaepobHas 1,30%1,92 2,5 2,5 2,5 2,78
0,62*3,23*0,30
6 BankoH +(2,56+3,23)/2*0,70*0,30 1,2 1,2 12,78
-0,53*0,16*0,30
WUtoro no k.. 589:| 41,6 404 | 194 | 21,0 1,2
2,89*1,50 +4,72*1,01
590 | 1 Xonn +2.11*1,01 11,2 11,2 11,2 2,78
2 [apaepobHas 1,42*1,92 2,7 2,7 2,7 2,78
3 Xunas komHaTa 5,14*2,81 14,4 144 | 144 2,78
4 CaHysen 1,70*1,80 3,1 3,1 3,1 2,78
5 CaHysen 1,23*1,26 -0,46*0,50 1,3 1,3 1,3 2,78
2,92*4,38 -1,32*0,13
6 XKunas komHaTa -0.64*0.12 12,5 125 | 12,5 2,78
5,16*3,42 -1,32*0,12
7 YXnnas komHaTa 1,380 12 17,3 17,3 | 17,3 2,78
8 KyxHs 4,66*2,89 -1,40*0,59 12,6 12,6 12,6 2,78
2,99*0,80*0,30
9 BankoH +(2,29+2,99)/2*0,73*0,30 1,3 1,3 2,78
-0,19*0,53*0,30
Wtoro no k.. 590:| 76,4 75,1 442 | 30,9 1,3
Wrtoro no 12-my ataxy: | 2294,3 |2221,0(1219,0(1002,0| 73,3
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) | Jlecthnunan 2,32*5,59 13,0 2,78| 13,0
KneTka
Vil Jlopxus 6,71*1,27 8,5 2,78| 8,5
1,69*3,57 -0,27*0,27
VIIl [ Mycopokamepa -1,35%0 45 54 2,78| 54
IX | JlndpToBow xonn 1,70*4,36 7.4 2,78 7.4
1,81*9,88 -0,27*0,39
X Xonn -0,35*0,33 -0,38*0,37 17,2 2,78 17,2
-1,16*0,29
x| | Jlectnnan 2,31%5,62 13,0 2,78| 13,0
KneTka
Xl Jlopxms 6,80*1,27 8,6 2,78| 8,6
1,72*3,56 -0,39*1,27
XlI'| Mycopokamepa -0.31%0.29 55 2,78 55
XIV | NucTtoBon xonn 1,69*4,38 7.4 2,78 7.4
1,80%9,87 -1,10*0,28
XV Xonn -0,39*0,33 -0,39*0,27 171 2,78 17,1
-0,40*0,32
xvi | TlectHnnan 5,70%2,33 13,3 2,78| 133
KneTka
XVII Jlopxus 1,28*6,56 8,4 2,78| 84
3,57*1,84 -1,35*0,40
XVIII{ Mycopokamepa -0.27%0 27 6,0 2,78 6,0
XIX | NucbToBon xonn 4,36*1,68 7,3 2,78 7,3
4,50*1,78 -1,06*0,30
+3,43*3,78 +0,78*0,47
XX Xonn -1,91%0,09 +9,65*1,79 37,7 2,78 | 37,7
-0,66*0,29 -0,54*0,42
XXI'| Mycopokamepa 5,61*2,32 13,0 2,78 13,0
XX Jlopxms 1,28*6,73 8,6 2,78| 8,6
1,72*3,57 -0,27*0,27
XXIII{ Mycopokamepa -0,40%1.26 5,6 2,78| 5,6
X\)/(I JncptoBown xonn 4,38*1,69 7.4 2,78 7.4
9,81*1,79 -0,26*0,29
XXV Xonn -0,40%0,27 -0,28*0,28 17,0 2,78 17,0
-1,18*0,29
X)I(V JlecTHnuHan 5,63%2,32 13,1 2,78 | 1311
KneTka
XTI(V Jlopxus 1,27*6,76 8,6 2,78| 8,6
XXV 3,58*1,75 -0,27*0,28
I Mycopokamepa -1.24%0 41 57 2,78 57
X>)<(I JncptoBown xonn 4,35*1,67 7,3 2,78 7,3
9,82*1,80 -0,29*0,28
XXX Xonn -0,28*0,40 -1,18*0,29 17,1 2,78 17,1
-0,28*0,27
X)I(X JlecTHnuHan 5,67*2,30 13,0 2,78 13,0
KneTka
Xﬁx Jlopxus 1,26*6,75 8,5 2,78| 8,5
XXX 3,60*1,87 -0,27*0,27
i Mycopokamepa -1.26%0 42 6,1 2,78 61
XI)\(/X JncptoBown xonn 4,37*1,70 7.4 2,78 7.4
9,63*1,79 -0,30*0,42
XXX -0,28%0,54 +8,26*3,87
v Xonn 2014531057028 | °2° 2,78 395
-0,06*6,40 +0,43*0,82
XXX| NecTHnuHas 2,32%5,60 13,0 2,78 13,0
\ KneTka




4 5 6 7 10 11 12 13 14 15
e 6,73*1,29 8,7 2,78| 87
XXX 3,60*1,75 -0,39*1,24
Vil Mycopokamepa -0.25%0.25 5,8 2,78 5,8
XI))((X JlndproBon xonn 1,69%4,35 7.4 2,78 74

9,89*1,80 -0,32*0,33
XL Xonn -0,27*0,40 -0,32*0,32 17,2 2,78 17,2
-1,05*0,28
XL | TlecTHudHas 2,32*5,61 13,0 2,78 | 13,0
KneTka
XLII Tooxus 6,73*1,28 8,6 2,78| 8,6
1,76*3,60 -0,28*0,28
XLIII| Mycopokamepa -1.25%0 40 5,8 2,78| 58
XLIV| NudTtoson xonn 1,69*4,38 7.4 2,78 7.4
9,86*1,78 -1,06*0,27
XLV Xonn -0,31*0,32 -0,41*0,28 16,9 2,78 16,9
-0,34*0,34
Wtoro no 12-my ataxy:| 457,5 457,5
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1,48*2,91 +1,01*4,68
13 (161 1 Xonn +0,98"2.12 11,1 11,1 11,1 2,78
2 KyxHs 4,67*2,91 -1,38*0,56 12,8 12,8 12,8 2,78
3,41*5,16 -0,12*1,38
>Kunasa komHaTa -0.12*1,32 17,3 17,3 | 17,3 2,78
4,40*2,93 -0,12*0,63
4 YXnnas komHaTa 133012 12,7 12,7 | 12,7 2,78
5 CaHysen 1,25*1,34 -0,43*0,53 1,5 1,5 1,5 2,78
6 CaHysen 1,72*1,79 3,1 3,1 3,1 2,78
7 Xunas komHaTa 2,81*5,08 14,3 14,3 14,3 2,78
8 apaepobHas 2,10*1,91 -1,05*0,54 3,4 3,4 3,4 2,78
0,81*3,00*0,30
9 BankoH +(2,26+3,00)/2*0,72*0,30 1,3 1,3 12,78
-0,52*0,15*0,30
Wtoro no kB. 161:| 77,5 76,2 | 443 | 319 1,3
162 | 1 Xonn 2,08*3,03 -0,12*1,00 6,2 6,2 6,2 2,78
2 CaHysen 1,91*2,41 -0,48*0,76 4,2 4,2 4,2 2,78
3 Xunas komHaTa 5,79*3,29 19,0 19,0 | 19,0 2,78
3,03*3,63 -1,39*0,12
4 KyxHs 1.360.58 10,0 10,0 10,0 2,78
3,23*0,63*0,30
5 BankoH +(2,54+3,23)/2*0,67*0,30 1,1 1,1 12,78
-0,26*0,54*0,30
WUtoro no k.. 162:| 40,5 39,4 | 19,0 | 20,4 1,1
163 | 1 Xonn 1,23*2,09 -0,12*1,10 2,4 2,4 2,4 2,78
2 YKnnas komHaTa 2,99*5,78 17,3 17,3 | 17,3 2,78
3,12*3,61 -1,88*0,57
3 KyxHs 1.38%0.12 10,0 10,0 10,0 2,78
4 CaHysen 1,80*2,09 3,8 3,8 3,8 2,78
5 Tomxus 6,26*1,30*0,50 41 41 (2,78
Wtoro no kB. 163:| 37,6 33,5 | 17,3 | 16,2 41
164 | 1 Xonn 1,62*4,09 -2,18*0,61 53 53 53 2,78
2 CaHysen 1,79*2,09 3,7 3,7 3,7 2,78
3 KyxHs 2,91*3,60 -1,90*0,56 9,4 9,4 9,4 2,78
5,78*3,42 -0,12*1,39
4 XKunas komHaTa -1,00%0,12 19,5 19,5 | 19,5 2,78
5 apaepobHas 1,30%1,91 2,5 2,5 2,5 2,78
0,62*3,23*0,30
6 BankoH +(2,55+3,23)/2*0,69*0,30 1,2 1,2 12,78
-0,53*0,24*0,30
WUtoro no kB. 164:| 41,6 40,4 | 19,5 | 20,9 1,2
1,49*2,87 +3,71*1,01
165 | 1 Xonn +3.10"1,01 11,2 11,2 11,2 2,78
2 [apoepobHas 1,41*1,92 2,7 2,7 2,7 2,78
3 Xunas komHaTa 2,80*5,16 14,4 144 | 144 2,78
4 CaHysen 1,70*1,79 3,0 3,0 3,0 2,78
5 CaHysen 1,22*1,28 -0,45*0,51 1,3 1,3 1,3 2,78
4,33*2,92 -0,12*0,64
6 XKunas komHaTa 1.25%0,12 12,4 124 | 124 2,78
5,16*3,42 -1,39*0,12
7 YXnnas komHaTa 132012 17,3 17,3 | 17,3 2,78
8 KyxHs 4,66*2,88 -1,38*0,55 12,7 12,7 12,7 2,78
2,96*0,77*0,30
9 BankoH +(2,22+2,96)/2*0,74*0,30 1,2 1,2 12,78
-0,50*0,23*0,30
Wtoro no kB. 165:| 76,2 75,0 | 441 30,9 1,2
3,06*3,13 +0,78*0,12

248 | 1 Xonn +0.90%0,20 +1,0072,79 12,6 12,6 12,6 2,78

3,24*5,19 -1,39*0,12
2 YXnnas komHaTa 20124012 16,6 16,6 | 16,6 2,78
3 KyxHs 4,54*2,80 -0,55*1,73 11,8 11,8 11,8 2,78




3 4 5 6 7 8 9 10 11 12 13 14 15
4 CaHysen 0,90%1,33 1,2 1,2 1,2 2,78
5 CaHysen 1,79*1,72 3,1 3,1 3,1 2,78
6 | YXunas komHaTa 5,31*2,81 14,9 14,9 | 14,9 2,78
2,82*1,54*0,50
7 TNopxusa -0.24%0 550,50 2,1 21 12,78
Wtoro no k.. 248:| 62,3 60,2 | 31,5 | 28,7 2,1
249 | 1 Xonn 3,74*2,92 -0,96*1,53 9,5 9,5 9,5 2,78
2 [apaepobHas 1,51*1,80 2,7 2,7 2,7 2,78
3 Xunas komHaTa 2,98*5,76 17,2 17,2 17,2 2,78
4 KyxHs 3,40*3,22 -0,55*1,90 9,9 9,9 9,9 2,78
5 CaHysen 1,80*2,76 5,0 5,0 5,0 2,78
1,27*3,06*0,50
6 Tomxus +(2,34+1,31)/2*1,05*0,50 3,3 3,3 [2,78
+0,63*1,31*0,50
Wtoro no k.. 249:| 47,6 443 | 17,2 | 271 3,3
250 | 1 Xonn 2,78*1,32 -1,40*0,12 3,5 3,5 3,5 2,78
2 CaHysen 1,80*2,76 5,0 5,0 5,0 2,78
3,22*3,39 -1,90*0,54
3 KyxHs -1.40%0.12 9,7 9,7 9,7 2,78
4 | YXunas komHaTa 3,10*6,26 19,4 194 | 194 2,78
3,22*0,53*0,30
5 BankoH +(2,65+3,22)/2*0,79*0,30 1,2 1,2 12,78
-0,54*0,25*0,30
Wtoro no k.. 250:| 38,8 37,6 | 19,4 | 18,2 1,2
2,92*3,32 -2,01*0,94
251 | 1 Xonn -0.21%2.00 7.4 7.4 7.4 2,78
2 KyxHs 3,19*4,17 13,3 13,3 13,3 2,78
3 CaHysen 1,80*2,36 4,2 4,2 4,2 2,78
4 Xunas komHaTa 3,20*5,53 17,7 17,7 | 17,7 2,78
5 Tomxus 2,85*1,51*0,50 2,2 22 2,78
Wtoro no k.. 251:| 44,8 426 | 17,7 | 249 2,2
252 | 1 Xonn 1,33*2,46 -1,40*0,12 3,1 3,1 3,1 2,78
2 Xunas komHaTa 3,09*5,61 17,3 17,3 | 17,3 2,78
3,07*3,22 -0,12*1,42
3 KyxHs -0.57*1.90 8,6 8,6 8,6 2,78
4 CaHysen 1,83*2,45 4,5 4,5 4,5 2,78
0,77*3,18*0,30
5 BankoH +(2,48+3,18)/2*0,69*0,30 1,3 1,3 12,78
-0,24*0,54*0,30
WUtoro no k.. 252:| 34,8 33,5 | 17,3 | 16,2 1,3
253 | 1 Xonn 1,33*2,49 3,3 3,3 3,3 2,78
2 CaHysen 1,79*2,47 4.4 4.4 4.4 2,78
3 KyxHs 3,06*3,22 -1,91*0,54 8,8 8,8 8,8 2,78
4 | YXunas komHaTa 5,57*3,10 -2,58*0,12 17,0 17,0 | 17,0 2,78
5 apaepobHas 1,35%1,20 1,6 1,6 1,6 2,78
6 apaepobHas 1,67*1,20 2,0 2,0 2,0 2,78
7 Tompxus 3,14*1,47*0,50 2,3 2,3 2,78
WUtoro no k.. 253:| 39,4 371 17,0 | 20,1 2,3
254 | 1 Xonn 5,27*1,76 -2,50*0,35 8,4 8,4 8,4 2,78
4,10*3,67 -0,92*0,12
2 YXnnas komHaTa 1,390 12 14,8 14,8 | 14,8 2,78
3 Xunas komHaTa 4,10*4,60 18,9 18,9 | 18,9 2,78
3,49*2,99 -0,12*1,40
4 KyxHs 173%0,56 9,3 9,3 9,3 2,78
5 CaHysen 0,90%1,09 1,0 1,0 1,0 2,78
6 CaHysen 1,80%1,64 3,0 3,0 3,0 2,78
0,78*2,93*0,30
7 BankoH +(2,18+2,93)/2*0,77*0,30 1,2 1,2 12,78
-0,26*0,56*0,30
WUtoro no k.. 254:| 56,6 55,4 | 33,7 | 21,7 1,2
1,51*2,89 +3,41*1,01
320 | 1 Xonn +1.33°0,08 +2,74*1,92 13,2 13,2 13,2 2,78
2 KyxHs 2,90*4,66 -0,55*1,38 12,8 12,8 12,8 2,78
3,33*5,17 -1,42*0,12*2,00
3 XKunas komHaTa 1,32*0,12 -1,33°0,12 16,6 16,6 | 16,6 2,78
4 YKnnas komHaTa 5,99*2,99 17,9 179 | 17,9 2,78
5 apaepobHas 1,92*1,60 3,1 3,1 3,1 2,78
6 YKnnas komHaTa 5,92*2,99 17,7 17,7 | 17,7 2,78
7 CaHysen 1,79%*1,92 3,4 3,4 3,4 2,78
8 CaHysen 1,23*1,45 -0,40*0,48 1,6 1,6 1,6 2,78
2,98*0,79*0,30
9 BankoH +(2,30+2,98)/2*0,75*0,30 1,3 1,3 12,78

-0,5470,25*0,30




1] [3 ] 4 5 6 7 8 9 10 11 [12] 13 14 |15
Wtoro no k.. 320:| 87,6 86,3 | 52,2 | 341 1,3
2,80*4,35 -3,08*1,61
321 | 1 Xonn +0.120,61 73 73 73 2,78
5,78*3,22 -1,00*0,12
2 XKunas komHaTa -1.40%0,12 18,3 18,3 | 18,3 2,78
3 | Xwunas komHaTa 4,52*2,90 13,1 13,1 13,1 2,78
3,12*2,91 -0,56*1,75
4 KyxHs 1384013 7.9 7.9 7.9 2,78
5 CaHysen 0,91*1,19 1,1 1,1 1,1 2,78
6 CaHysen 1,82*1,66 3,0 3,0 3,0 2,78
0,63*3,37*0,30
7 BankoH +(2,75+3,37)/2*0,68*0,30 1,2 1,2 12,78
-0,35*0,25*0,30
Wtoro no kB. 321:( 51,9 50,7 | 31,4 | 19,3 1,2
322 | 1 Xonn 1,17*6,10 7.1 7.1 71 2,78
2 [apoepobHas 1,19*1,93 2,3 2,3 2,3 2,78
3 KyxHs 3,00*4,52 -1,36*0,56 12,8 12,8 12,8 2,78
4,53*3,13 -1,39*0,12*2,00
4 XKunas komHaTa -0,94%0,13 -0,92°0.12 13,6 136 | 13,6 2,78
5 | Xwunas komHaTa 3,30%4,53 14,9 14,9 | 14,9 2,78
6 apaepobHas 1,18*1,40 1,7 1,7 1,7 2,78
7 CaHysen 1,23*1,49 -0,44*0,78 1,5 1,5 1,5 2,78
8 CaHysen 1,79*1,91 3,4 3,4 3,4 2,78
0,63*3,28*0,30
9 BankoH +(2,69+3,28)/2*0,68*0,30 1,2 1,2 12,78
-0,29*0,25*0,30
WUtoro no k.. 322:| 58,5 57,3 | 28,5 | 28,8 1,2
2,89*1,48 +0,99*4,72
323 | 1 Xonn +2.11*1,02 11,1 11,1 11,1 2,78
2 [apaepobHas 1,91*1,44 2,8 2,8 2,8 2,78
3 Xunas komHaTa 5,11*2,81 14,4 144 | 144 2,78
4 CaHysen 1,80*1,70 3,1 3,1 3,1 2,78
5 CaHysen 1,24*1,22 -0,47*0,45 1,3 1,3 1,3 2,78
4,40*2,93 -0,65*0,12
6 XKunas komHaTa 1.32°0,12 12,7 12,7 | 12,7 2,78
3,41*5,17 -1,32*0,12
YXnnas komHaTa 1424012 17,3 17,3 | 17,3 2,78
8 KyxHs 2,89*4,68 -0,55*1,36 12,8 12,8 12,8 2,78
2,99*0,78*0,30
9 BankoH +(2,28+2,99)/2*0,75*0,30 1,3 1,3 12,78
-0,24*0,53*0,30
Wtoro no k.. 323:| 76,8 75,5 | 444 | 311 1,3
2,89%1,49 +4,71*1,00
380 1 Xonn +2.11*1.01 11,2 11,2 11,2 2,78
2 KyxHs 2,90%4,66 -1,36*0,56 12,8 12,8 12,8 2,78
5,16*3,43 -1,32*0,12
YXnnas komHaTa 1417012 17,4 174 | 174 2,78
4,44*2,90 -0,12*0,66
4 XKunas komHaTa 1.34%0,12 12,6 126 | 12,6 2,78
5 CaHysen 1,21*1,20 -0,40*0,42 1,3 1,3 1,3 2,78
6 CaHysen 1,82*1,70 3,1 3,1 3,1 2,78
7 apaepobHas 1,92%1,41 2,7 2,7 2,7 2,78
8 | XXunas komHaTa 5,10*2,80 14,3 14,3 | 14,3 2,78
2,98*0,78*0,30
9 BankoH +(2,25+2,98)/2*0,76*0,30 1,3 1,3 12,78
-0,53*0,24*0,30
WUtoro no k.. 380:| 76,7 754 | 44,3 | 311 1,3
381 | 1 Xonn 1,18%6,14 7,2 7,2 7,2 2,78
2 CaHysen 1,93*1,84 3,6 3,6 3,6 2,78
3 CaHysen 1,19*1,41 -0,41*0,41 1,5 1,5 1,5 2,78
4 apaepobHas 1,18*1,40 1,7 1,7 1,7 2,78
5 YKnnas komHaTa 3,31*4,53 15,0 15,0 | 15,0 2,78
4,53*3,12 -1,38*0,12*2,00
6 YXnnas komHaTa -0,93*0.12 -0,93*0.12 13,6 13,6 | 13,6 2,78
7 KyxHs 3,01*4,53 -1,38*0,57 12,9 12,9 12,9 2,78
8 apaepobHas 1,18*1,90 2,2 2,2 2,2 2,78
0,61*3,31*0,30
9 BankoH +(2,63+3,31)/2*0,69*0,30 1,2 1,2 12,78
-0,26*0,24*0,30
Wtoro no k.. 381:| 58,9 57,7 | 28,6 | 29,1 1,2
4,38*2,79 -3,10*1,60
382 | 1 Xonn +0,12*0,60 7,3 7,3 7,3 2,78
2 CaHysen 1,80%1,64 3,0 3,0 3,0 2,78
3 CaHysen 0,90*1,17 1,1 1,1 1,1 2,78




3 4 5 6 7 8 9 10 11 12 13 14 15
3,12*2,91 -1,37*0,12
4 KyxHs -0,551.72 8,0 8,0 8,0 2,78
5 Xunas komHaTa 4,52*2,90 13,1 13,1 13,1 2,78
5,79*3,23 -1,00%0,12
6 XKunas komHaTa -1.39%0,12 18,4 184 | 184 2,78
0,61*3,34*0,30
7 BankoH +(2,67+3,34)/2*0,69*0,30 1,2 1,2 2,78
-0,26*0,24*0,30
WUtoro no k.. 382:| 52,1 50,9 | 31,5 | 19,4 1,2
2,89*1,51 +1,01*3,44
383 | 1 Xonn +1.32°0,09 +2,73*1.91 13,2 13,2 13,2 2,78
2 CaHysen 1,23*1,47 -0,40*0,44 1,6 1,6 1,6 2,78
3 CaHysen 1,91*1,79 3,4 3,4 3,4 2,78
4 Xunas komHaTa 5,91*3,01 17,8 17,8 | 17,8 2,78
5 apaepobHas 1,91*1,60 3,1 3,1 3,1 2,78
6 Xunas komHaTa 3,00%6,00 18,0 18,0 | 18,0 2,78
5,17*3,35 -1,40%0,12*2,00
7 XKunas komHaTa -1.32%0,12*2,00 16,7 16,7 | 16,7 2,78
8 KyxHs 2,89*4,66 -1,36*0,55 12,7 12,7 12,7 2,78
0,76*2,98*0,30
9 BarnkoH +(2,27+2,98)/2*0,74*0,30 1,2 1,2 2,78
-0,22*0,52*0,30
Wtoro no k.. 383:| 87,7 86,5 | 52,5 | 34,0 1,2
5,40*2,29 -1,71*0,55
451 | 1 Xonn -0.36"2.66 10,5 10,5 10,5 2,78
2 CaHysen 1,81*1,64 3,0 3,0 3,0 2,78
3 CaHysen 0,86*1,15 1,0 1,0 1,0 2,78
3,49*3,00 -1,74*0,58
4 KyxHs -1.40°0,12 9,3 9,3 9,3 2,78
5 | >Kvnas komHaTa 4,60%4,10 18,9 18,9 | 18,9 2,78
3,80*3,58 -1,40%0,12
6 YXnnas komHaTa -0,38+0 12 -1,38*0.12 13,2 13,2 13,2 2,78
7 Xunas komHaTa 2,97*5,59 16,6 16,6 16,6 2,78
2,80*0,72*0,30
8 BankoH +(2,05+2,80)/2*0,80*0,30 1,2 1,2 2,78
-0,46%0,24*0,30
3,00%0,78*0,30
9 BankoH +(2,35+3,00)/2*0,70%0,30 1,2 1,2 2,78
-0,58*0,24*0,30
Wtoro no kB. 451:| 74,9 72,5 | 48,7 | 23,8 2,4
452 | 1 Xonn 2,80*5,11 -1,64*3,32 8,9 8,9 8,9 2,78
2 Xunas komHaTa 3,33*5,60 -1,32*0,12 18,5 18,5 18,5 2,78
3 KyxHs 4,00*3,10 -1,36*0,46 11,8 11,8 11,8 2,78
4 Xunas komHaTa 3,09*3,99 12,3 12,3 | 12,3 2,78
5 [apoepobHas 1,20*2,80 3,4 3,4 3,4 2,78
6 CaHysen 1,89%1,52 2,9 29 2,9 2,78
7 CaHysen 1,02*1,25 -0,41*0,44 1,1 1,1 1,1 2,78
8 TNopxusa 3,07*1,49*0,50 2,3 2,3 12,78
Wtoro no k.. 452:| 61,2 58,9 | 30,8 | 28,1 2,3
3,40*3,36 -2,00%1,31
453 | 1 Xonn 1.99°0.12 8,6 8,6 8,6 2,78
2 YKnnas komHaTa 3,22*5,61 18,1 18,1 18,1 2,78
3 CaHysen 1,72*1,83 3,1 3,1 3,1 2,78
4 CaHysen 0,88%1,17 1,0 1,0 1,0 2,78
3,60*3,33 -1,38%0,13
5 KyxHs -0.13%0,09 11,8 11,8 11,8 2,78
6 Xunas komHaTa 3,09%4,99 15,4 154 | 154 2,78
5,63*1,45*0,50
7 TNomxnsa -0,.24*0,23*0 50 4.1 41 12,78
WUtoro no k.. 453:| 62,1 58,0 | 33,5 | 24,5 4.1
4,44*2,00 +3,32*1,13
454 | 1 Xonn -0.45%0.12 12,6 12,6 12,6 2,78
2 Xunas komHaTa 6,27*3,21 -1,41*0,13 20,0 20,0 | 20,0 2,78
3 KyxHs 3,22*4,18 -1,50*0,46 12,8 12,8 12,8 2,78
4 Xunas komHaTa 4,20*2,95 12,4 124 | 124 2,78
5 CaHysen 1,38%1,40 -0,47*0,42 1,7 1,7 1,7 2,78
6 CaHysen 1,89%1,89 3,6 3,6 3,6 2,78
1,29%2,91*0,50
7 TNopxusa +(2,23+1,29)/2*0,97*0,50 3,2 3,2 12,78
+0,69*1,29*0,50
Wtoro no k.. 454:| 66,3 63,1 32,4 | 30,7 3,2
4,84*3,12 -1,89*2,98
455 | 1 Xonn +2,16%1 21 12,1 12,1 12,1 2,78
2 YKnnas komHaTa 5,563*2,79 15,4 154 | 154 2,78




3 4 5 6 7 8 9 10 11 12 13 14 15
3 apaepobHas 2,16*1,70 3,7 3,7 3,7 2,78
4 | YXunas komHaTa 2,79%4,93 13,8 13,8 | 13,8 2,78

3,24*3,38 -0,58*1,76
5 KyxHs -0.10°0.12 -1,10°0.12 9,8 9,8 9,8 2,78
6 CaHysen 0,90%1,27 1,1 1,1 1,1 2,78
7 CaHysen 1,89*1,80 3,4 3,4 3,4 2,78
8 Tomxus 1,31*2,73*0,50 1,8 1,8 12,78
Wtoro no k.. 455:| 61,1 59,3 | 29,2 | 30,1 1,8
2,89*1,50 +4,70*0,96
526 | 1 Xonn £1,00°2.17 11,0 11,0 11,0 2,78
2 KyxHs 4,63*2,90 -0,57*1,40 12,6 12,6 12,6 2,78
5,16*3,41 -1,40*0,12
YXnnas komHaTa -1,3240.12 17,3 17,3 | 17,3 2,78
4,40*2,94 -1,31*0,12
4 XKunas komHaTa -0.66%0,12 12,7 12,7 | 12,7 2,78
5 CaHysen 1,24*1,24 -0,43*0,46 1,3 1,3 1,3 2,78
6 CaHysen 1,71*1,80 3,1 3,1 3,1 2,78
7 | Xunas komHaTa 2,80*5,10 14,3 14,3 | 14,3 2,78
8 apaepobHas 2,00*2,13 -1,05*0,62 3,6 3,6 3,6 2,78
0,81*2,99*0,30
9 BankoH +(2,25+2,99)/2*0,73*0,30 1,3 1,3 12,78
-0,52*0,21*0,30
WUtoro no kB. 526:| 77,2 75,9 | 443 | 31,6 1,3
527 | 1 Xonn 2,08*3,02 -0,99*0,12 6,2 6,2 6,2 2,78
2 CaHysen 1,92*2,39 -0,50*0,77 4,2 4,2 4,2 2,78
3 | Xwunas komHaTta 3,29*5,82 -2,18*0,13 18,9 18,9 | 18,9 2,78
3,63*3,01 -1,40*0,13
4 KyxHs -1.33%0,57 10,0 10,0 10,0 2,78
0,61*3,25*0,30
5 BankoH +(2,56+3,25)/2*0,69*0,30 1,2 1,2 12,78
-0,53*0,18*0,30
Wtoro no kB. 527: 40,5 39,3 | 18,9 | 20,4 1,2
528 | 1 Xonn 2,08*1,22 -1,10*0,12 2,4 2,4 2,4 2,78
2 Xunas komHaTa 3,00%5,80 17,4 174 | 174 2,78
3,64*3,11 -1,90*0,58
3 KyxHs 1.40°0.12 10,1 10,1 10,1 2,78
4 CaHysen 2,09%1,82 3,8 3,8 3,8 2,78
5 Tompxus 6,26*1,30*0,50 41 41 (2,78
WUtoro no k.. 528:| 37,8 33,7 | 17,4 | 16,3 4.1
529 | 1 Xonn 4,04*1,62 -2,11*0,61 53 53 53 2,78
2 CaHysen 2,09*1,81 3,8 3,8 3,8 2,78
3 KyxHs 3,64*2,91 -1,89*0,57 9,5 9,5 9,5 2,78
5,74+5,80)/2*3,41
4 | Hunanowmara | OIS | 194 | 194 | 194 2,78
5 apaepobHas 1,30*1,90 25 25 25 2,78
0,62*3,22*0,30
6 BankoH +(2,55+3,22)/2*0,68*0,30 1,2 1,2 12,78
-0,53*0,16*0,30
Wtoro no kB. 529: 41,7 405 | 19,4 | 211 1,2
2,90%1,48
530 | 1 Xonn +(1,04+1,12)/2*3,70 11,4 11,4 11,4 2,78
+3,13*1,00
2 apaepobHas (1,79+1,84)/2*1,40 2,5 2,5 2,5 2,78
3 Xunas komHaTa 5,11*2,80 14,3 14,3 | 14,3 2,78
4 CaHysen 1,71*1,81 3,1 3,1 3,1 2,78
5 CaHysen 1,23*1,24 -0,46*0,44 1,3 1,3 1,3 2,78
2,93*4,38 -1,29*0,12
6 XKunas komHaTa -0,65%0.12 12,6 126 | 12,6 2,78
5,16*3,42 -1,32*0,12
7 YXnnas komHaTa 1,390 12 17,3 17,3 | 17,3 2,78
8 KyxHs 4,67*2,90 -1,40*0,61 12,7 12,7 12,7 2,78
2,98*0,78*0,30
9 BankoH +(2,27+2,98)/2*0,75*0,30 1,3 1,3 12,78
-0,16*0,53*0,30
Wtoro no kB. 530: 76,5 75,2 | 442 | 31,0 1,3
Wrtoro no 13-my ataxy:| 1747,2 |1691,9( 930,2 | 761,7 | 55,3
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4 5 6 7 8 9 10 11 12 13 14
x| | Jlectnnan 2,31%5,62 13,0 2,78| 13,0
KneTka
Xl TNomxmsa 6,80%1,27 8,6 2,78 8,6
1,72*3,56 -0,39*1,27
XlI'| Mycopokamepa -0.31%0.29 55 2,78| 55
XIV | NucTtoBon xonn 1,69*4,38 7.4 2,78 7.4
1,80*9,87 -1,10*0,28
XV Xonn -0,39*0,33 -0,39*0,27 17,1 2,781 17,1
-0,40%0,32
xvi | TlectHnnan 5,70%2,33 13,3 2,78| 133
KneTka
XVII TNomxma 1,28%6,56 8,4 2,78 84
3,57%1,84 -1,35*0,40
XVIII{ Mycopokamepa -0.27%0 27 6,0 2,78 6,0
XIX | NucbToBon xonn 4,36*1,68 7,3 2,78 7,3
4,50%1,78 -1,06*0,30
+3,43*3,78 +0,78*0,47
XX Xonn -1,91%0,09 +9,65*1,79 37,7 2,78 | 37,7
-0,66*0,29 -0,54*0,42
XXI'| Mycopokamepa 5,61*2,32 13,0 2,78 13,0
XXII TNomxma 1,28%6,73 8,6 2,78 8,6
1,72*3,57 -0,27*0,27
XXIII{ Mycopokamepa -0.40%1.26 5,6 2,78| 5,6
X\)/(I JncptoBown xonn 4,38*1,69 7.4 2,78 7.4
9,81*1,79 -0,26*0,29
XXV Xonn -0,40*0,27 -0,28*0,28 17,0 2,78 17,0
-1,18%0,29
X)I(V JlecTHnuHan 5,63%2,32 13,1 2,78 | 13,1
KneTka
XTI(V TNomxuma 1,27%6,76 8,6 2,78 8,6
XXV 3,568*1,75 -0,27*0,28
I Mycopokamepa -1.24%0 41 57 2,78 57
X>)<(I JncptoBown xonn 4,35*1,67 7,3 2,78 7,3
9,82*1,80 -0,29*0,28
XXX Xonn -0,28*0,40 -1,18*0,29 17,1 2,781 17,1
-0,28*0,27
X)I(X JlecTHnuHan 5,67*2,30 13,0 2,78 13,0
KneTka
Xﬁx TNomxuma 1,26%6,75 8,5 2,78 8,5
XXX 3,60*1,87 -0,27*0,27
il Mycopokamepa -1.26%0 42 6,1 2,78 61
XI)\(/X JncptoBown xonn 4,37*1,70 7.4 2,78 7.4
9,63*1,79 -0,30*0,42
XXX -0,28*0,54 +8,26*3,87
v Xonn 2014531057028 | °2° 2,78 395
-0,06*6,40 +0,43*0,82
XXX| NecTHnuHas 2,32%5,60 13,0 2,78 13,0
\ KneTka
e 6,731,29 8.7 278 87
XXX 3,60%1,75-0,39*1,24
Vil Mycopokamepa -0.25%0.25 5,8 2,78 5,8
XI))((X Jlndptoson xonn 1,69%4,35 7.4 2,78 74
9,89%1,80 -0,32*0,33
XL Xonn -0,27*0,40 -0,32*0,32 17,2 2,78 17,2
-1,05%0,28
Wtoro no 13-my ataxy:| 354,3 354,3
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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
14 |166 | 1 Xonn A2 e o7 11,0 | 11,0 11,0 2,78
2 KyxHs 4,66*2,89 -1,38*0,56 12,7 12,7 12,7 2,78
3,41*5,15-0,12*1,37
>Kunasa komHaTa -0.12*1,32 17,2 17,2 | 17,2 2,78
4 | Xunas komHaTa 4,37 ?1’953;%1122 0,63 12,5 12,5 | 12,5 2,78
5 CaHysen 1,23*1,32 -0,44*0,51 1,4 1,4 1,4 2,78
6 CaHysen 1,73*1,80 3,1 3,1 3,1 2,78
7 Xunas komHaTa 2,81*5,14 14,4 14,4 14,4 2,78
8 apaepobHas 2,13*1,91 -1,09*0,54 3,5 3,5 3,5 2,78
0,81*3,00*0,30
9 BankoH +(2,26+3,00)/2*0,72*0,30 1,3 1,3 12,78
-0,52*0,15*0,30
Wtoro no kB. 166:| 77,1 75,8 | 441 31,7 1,3
167 | 1 Xonn 2,07*3,03 -0,12*1,00 6,2 6,2 6,2 2,78
2 CaHysen 1,93 214127*%%‘;'3 0.80 4,3 4,3 4,3 2,78
3 | Xwunas komHaTta 5,79*3,29 19,0 19,0 | 19,0 2,78
4 KyxHs 3,033,088 0,12 101 | 10,1 10,1 2,78
3,23*0,63*0,30
5 BankoH +(2,54+3,23)/2*0,67*0,30 1,1 1,1 12,78
-0,26*0,54*0,30
Wtoro no kB. 167:| 40,7 39,6 | 19,0 | 20,6 1,1
168 | 1 Xonn 1,23*2,10 -0,12*1,10 2,5 2,5 2,5 2,78
2 Xunas komHaTa 2,99*5,80 17,3 17,3 | 17,3 2,78
3,12*3,62 -1,90*0,56
3 KyxHs 1.39°0.12 10,1 10,1 10,1 2,78
4 CaHysen 1,81*2,09 3,8 3,8 3,8 2,78
5 Tompxus 6,26*1,30*0,50 41 41 (2,78
WUtoro no k.. 168:| 37,8 33,7 | 17,3 | 16,4 4.1
169 | 1 Xonn 1,58*4,13 -2,19*0,61 5,2 5,2 5,2 2,78
2 CaHysen 1,82*2,09 3,8 3,8 3,8 2,78
3 KyxHs 2,90*3,57 -1,89*0,53 9,4 9,4 9,4 2,78
4 | Xunas vowwara | 77342 012,39 194 | 194 | 194 2,78
5 apaepobHas 1,32*1,93 25 25 25 2,78
0,62*3,23*0,30
6 BankoH +(2,55+3,23)/2*0,69*0,30 1,2 1,2 12,78
-0,53*0,24*0,30
Wtoro no kB. 169:| 41,5 40,3 | 19,4 | 20,9 1,2
170 | 1 Xonn 1477287 13, 71°,00 1M1 | 11,1 11,1 2,78
2 apaepobHas 1,42*1,91 2,7 2,7 2,7 2,78
3 | Xwunas komHaTta 2,80*5,14 14,4 144 | 14,4 2,78
4 CaHysen 1,69*1,79 3,0 3,0 3,0 2,78
5 CaHysen 1,23*1,28 -0,43*0,52 1,4 1,4 1,4 2,78
4,37*2,92 -0,12*0,65
6 YXnnas komHaTa 1.24%0.12 12,5 12,5 | 12,5 2,78
5,15*3,41 -1,39*0,12
XKunas komHaTa 1.32°0.12 17,2 17,2 17,2 2,78
8 KyxHs 4,68*2,88 -1,38*0,58 12,7 12,7 12,7 2,78
2,96*0,77*0,30
9 BankoH +(2,22+2,96)/2*0,74*0,30 1,2 1,2 12,78
-0,50*0,23*0,30
WUtoro no kB. 170:| 76,2 75,0 | 441 30,9 1,2
3,08*3,14 +0,79*0,12
255 | 1 Xonn +0,89%0.20 +1,03%2,78 12,8 12,8 12,8 2,78
3,25*5,19 -1,41*0,12
2 XKunas komHaTa -0.12%0,12 16,7 16,7 | 16,7 2,78




3 4 5 6 7 8 9 10 11 12 13 14 15
3 KyxHs 4,59*2,81 -0,58*1,77 11,9 11,9 11,9 2,78
4 CaHysen 0,89%1,22 1,1 1,1 1,1 2,78
5 CaHysen 1,80%1,68 3,0 3,0 3,0 2,78
6 | Xunasa komHaTa 5,27*2,80 14,8 14,8 | 14,8 2,78
2,82*1,54*0,50
7 TNopxusa -0,24%0 55%0.50 2,1 21 12,78
Wtoro no k.. 255:| 62,4 60,3 | 31,5 | 28,8 2,1
256 | 1 Xonn 3,71*2,92 -0,93*1,54 9,4 9,4 9,4 2,78
2 apaepobHas 1,51*1,78 2,7 2,7 2,7 2,78
3 Xunas komHaTa 2,97*5,79 17,2 17,2 17,2 2,78
4 KyxHs 3,40*3,21 -0,56*1,90 9,9 9,9 9,9 2,78
5 CaHysen 1,80%2,78 5,0 5,0 5,0 2,78
1,27*3,06%0,50
6 TNopxusa +(2,34+1,31)/2*1,05*0,50 3,3 3,3 12,78
+0,63*1,31*0,50
Wtoro no k.. 256:| 47,5 442 | 17,2 | 27,0 3,3
257 | 1 Xonn 2,74*1,35 -1,40*0,12 3,5 3,5 3,5 2,78
2 CaHysen 1,79*2,75 4,9 4,9 4,9 2,78
3,23*3,43 -1,92*0,57
3 KyxHs -1,40°0.12 9,8 9,8 9,8 2,78
4 | XKunasa komHaTta 3,10%6,27 19,4 19,4 | 19,4 2,78
3,22*0,53*0,30
5 BarnkoH +(2,65+3,22)/2*0,79*0,30 1,2 1,2 2,78
-0,54*0,25%0,30
WUtoro no k.. 257:| 38,8 37,6 | 19,4 | 18,2 1,2
2,95*3,31 -2,01*0,96
258 | 1 Xonn -0.23%2.02 7.4 7.4 7.4 2,78
2 KyxHs 3,21*4,14 13,3 13,3 13,3 2,78
3 CaHysen 1,80*2,38 4,3 4,3 4,3 2,78
4 Xunas komHaTa 3,20*5,51 17,6 176 | 17,6 2,78
5 TNopxunsa 2,85*1,51*0,50 2,2 22 12,78
Wtoro no k.. 258:| 44,8 426 | 17,6 | 25,0 2,2
259 | 1 Xonn 1,34*2,46 -1,40*0,12 3,1 3,1 3,1 2,78
2 Xunas komHaTa 3,10*5,60 17,4 174 | 174 2,78
3,06*3,21 -0,12*1,41
3 KyxHs -0.56*1,92 8,6 8,6 8,6 2,78
4 CaHysen 1,80*2,46 4.4 4.4 4.4 2,78
0,77*3,18*0,30
5 BarnkoH +(2,48+3,18)/2*0,69*0,30 1,3 1,3 [2,78
-0,24*0,54*0,30
WUtoro no k.. 259:| 34,8 335 | 17,4 | 16,1 1,3
260 | 1 Xonn 1,34*2,47 3,3 3,3 3,3 2,78
2 CaHysen 1,79*2,48 4.4 4.4 4.4 2,78
3 KyxHs 3,02*3,23 -1,90%0,56 8,7 8,7 8,7 2,78
4 | XKunasa komHaTta 5,61*3,10 -2,62%0,12 171 171 171 2,78
5 apaepobHas 1,37*1,20 1,6 1,6 1,6 2,78
6 apaepobHas 1,65%1,20 2,0 2,0 2,0 2,78
7 JNopxnsa 3,14*1,47*0,50 2,3 2,3 12,78
WUtoro no k.. 260:| 39,4 371 171 20,0 2,3
261 | 1 Xonn 5,26*1,77 -2,50*0,38 8,4 8,4 8,4 2,78
4,10*3,67 -0,93*0,12
2 YXnnas komHaTa 1,400 12 14,8 14,8 | 14,8 2,78
3 Xunas komHaTa 4,09*4,60 18,8 18,8 | 18,8 2,78
3,50*3,00 -0,12*1,41
4 KyxHs -173%0,56 9.4 9,4 9,4 2,78
5 CaHysen 0,90%1,24 1,1 1,1 1,1 2,78
6 CaHysen 1,80%1,64 3,0 3,0 3,0 2,78
0,78*2,93*0,30
7 BarnkoH +(2,18+2,93)/2*0,77*0,30 1,2 1,2 2,78
-0,26*0,56*0,30
WUtoro no k.. 261:| 56,7 55,5 | 33,6 | 21,9 1,2
1,49*2,90 +3,41*0,98
324 | 1 Xonn +1,33°0,08 +2,72*1,93 13,0 13,0 13,0 2,78
2 KyxHs 2,90*4,66 -0,55%1,37 12,8 12,8 12,8 2,78
3,34*5,16 -1,40%0,12
3 Xunas komHaTa -1,39*0,12 -1,33*0,12 16,6 16,6 16,6 2,78
-1,31*0,12
4 Xunas komHaTa 5,97*3,00 17,9 179 | 17,9 2,78
5 apaepobHas 1,92*1,60 3,1 3,1 3,1 2,78
6 Xunas komHaTa 5,92*2,99 17,7 17,7 | 17,7 2,78
7 CaHysen 1,80%1,93 3,5 3,5 3,5 2,78
8 CaHysen 1,23*1,44 -0,41*0,46 1,6 1,6 1,6 2,78




3 4 5 6 7 8 9 10 11 12 13 14 15
2,98*0,79*0,30
9 BankoH +(2,30+2,98)/2*0,75*0,30 1,3 1,3 [2,78
-0,54*0,25*0,30
WUtoro no k.. 324:| 87,5 86,2 | 52,2 | 34,0 1,3
2,80%4,36 -3,09*1,61
325 | 1 Xonn +0.12°0,61 73 7.3 7,3 2,78
5,78*3,22 -1,00%0,12
2 XKunas komHaTa -1.40%0,12 18,3 18,3 | 18,3 2,78
3 | >Kvnas komHaTa 4,52%2,89 13,1 13,1 13,1 2,78
3,13*2,91 -0,56*1,75
4 KyxHs 1,390 12 8,0 8,0 8,0 2,78
5 CaHysen 0,90*1,16 1,0 1,0 1,0 2,78
6 CaHysen 1,82%1,67 3,0 3,0 3,0 2,78
0,63*3,37*0,30
7 BankoH +(2,75+3,37)/2*0,68*0,30 1,2 1,2 (2,78
-0,35%0,25%0,30
Wtoro no k.. 325:| 51,9 50,7 | 31,4 | 19,3 1,2
326 | 1 Xonn 1,19%6,13 7,3 7,3 7,3 2,78
2 lapaepobHas 1,19*1,91 2,3 2,3 2,3 2,78
3 KyxHs 3,00*4,52 -1,37*0,57 12,8 12,8 12,8 2,78
4,53*3,13 -1,39*0,13
4 Xunas komHaTa -1,38*0,12 -0,93*0,12 13,6 13,6 13,6 2,78
-0,92%0,12
5 Xunas komHaTa 3,30%4,54 15,0 15,0 15,0 2,78
6 apaepobHas 1,16*1,39 1,6 1,6 1,6 2,78
7 CaHysen 1,22*1,46 -0,44*0,77 1,4 1,4 1,4 2,78
8 CaHysen 1,83%1,92 3,5 3,5 3,5 2,78
0,63*3,28*0,30
9 BankoH +(2,69+3,28)/2*0,68*0,30 1,2 1,2 2,78
-0,29*0,25%0,30
Wtoro no k.. 326:| 58,7 57,5 | 28,6 | 28,9 1,2
2,90*1,51 +1,00%4,72
327 | 1 Xonn +2,101,01 11,2 11,2 11,2 2,78
2 apaepobHas 1,92%1,37 2,6 2,6 2,6 2,78
3 | >Kvnas komHaTa 5,11*2,80 14,3 14,3 | 14,3 2,78
4 CaHysen 1,80%1,69 3,0 3,0 3,0 2,78
5 CaHysen 1,21*1,22 -0,41*0,43 1,3 1,3 1,3 2,78
4,40%2,94 -0,64*0,12
6 YXnnas komHaTa 132012 12,7 12,7 | 12,7 2,78
3,40*5,16 -1,32*0,12
7 XKunas komHaTa 140012 17,2 17,2 17,2 2,78
8 KyxHs 2,91*4,64 -0,56*1,37 12,7 12,7 12,7 2,78
2,99*0,78*0,30
9 BarnkoH +(2,28+2,99)/2*0,75*0,30 1,3 1,3 [2,78
-0,24*0,53*0,30
WUtoro no k.. 327:| 76,3 75,0 | 44,2 | 30,8 1,3
2,90*1,50 +4,71*1,00
384 | 1 Xonn +2.13*1,02 11,2 11,2 11,2 2,78
2 KyxHs 2,90*4,64 -1,36*0,56 12,7 12,7 12,7 2,78
5,14*3,42 -1,32*0,12
XKunas komHaTa 1.37°0.12 17,3 17,3 | 17,3 2,78
4,40%2,92 -0,12*0,65
4 YXnnas komHaTa 132012 12,6 12,6 | 12,6 2,78
5 CaHysen 1,22*1,24 -0,42*0,47 1,3 1,3 1,3 2,78
6 CaHysen 1,82*1,69 3,1 3,1 3,1 2,78
7 [apoepobHas 1,92*1,39 2,7 2,7 2,7 2,78
8 Xunas komHaTa 5,10*2,80 14,3 14,3 | 14,3 2,78
2,98*0,78*0,30
9 BankoH +(2,25+2,98)/2*0,76*0,30 1,3 1,3 (2,78
-0,53%0,24*0,30
Wtoro no k.. 384:| 76,5 75,2 | 442 | 31,0 1,3
385 | 1 Xonn 1,18%6,13 7,2 7,2 7,2 2,78
2 CaHysen 1,92%1,84 3,5 3,5 3,5 2,78
3 CaHysen 1,20%1,48 -0,43*0,39 1,6 1,6 1,6 2,78
4 [apoepobHas 1,18*1,40 1,7 1,7 1,7 2,78
5 Xunas komHaTa 3,29*4,52 14,9 14,9 14,9 2,78
4,53*3,13 -1,40*0,12*2,00
6 XKunas komHaTa -0,92%0,12*2,00 13,6 136 | 13,6 2,78
7 KyxHs 3,01*4,53 -1,38%0,56 12,9 12,9 12,9 2,78
8 apaepobHas 1,20%1,91 2,3 2,3 2,3 2,78
0,61*3,31*0,30
9 BarnkoH +(2,63+3,31)/2*0,69*0,30 1,2 1,2 2,78
-0,26*0,24*0,30
WUtoro no k.. 385:| 58,9 57,7 | 28,5 | 29,2 1,2




3 4 5 6 7 8 9 10 11 12 13 14 15
4,38*2,78 -3,10*1,58
386 | 1 Xonn +0,12°0,58 7.4 7.4 7.4 2,78
2 CaHysen 1,80*1,64 3,0 3,0 3,0 2,78
3 CaHysen 0,90*1,15 1,0 1,0 1,0 2,78
3,13*2,93 -1,40%0,12
4 KyxHs -0.56*1,73 8,0 8,0 8,0 2,78
5 | >Kvnas komHaTa 4,53%2,90 13,1 13,1 13,1 2,78
5,77*3,22 -1,00%0,12
6 YXnnas komHaTa 1384012 18,3 18,3 | 18,3 2,78
0,61*3,34*0,30
7 BankoH +(2,67+3,34)/2*0,69%0,30 1,2 1,2 (2,78
-0,26*0,24*0,30
Wtoro no kB. 386:| 52,0 50,8 | 31,4 | 19,4 1,2
2,90*1,50 +1,00*3,42
387 | 1 Xonn +1.330.09 +2,73"1,92 13,1 13,1 13,1 2,78
2 CaHysen 1,30%1,48 -0,40*0,47 1,7 1,7 1,7 2,78
3 CaHysen 1,93%1,72 3,3 3,3 3,3 2,78
4 YKnnas komHaTa 5,89*3,00 17,7 17,7 | 17,7 2,78
5 [apaepobHas 1,92%1,60 3,1 3,1 3,1 2,78
6 YKnnas komHaTa 3,00%5,98 17,9 179 | 17,9 2,78
5,15*3,34 -1,38*0,12*2,00
7 YXnnas komHaTa -1,32%0.12*2.00 16,5 16,5 | 16,5 2,78
8 KyxHs 2,91*4,65 -1,37*0,56 12,8 12,8 12,8 2,78
0,76*2,98*0,30
9 BankoH +(2,27+2,98)/2*0,74*0,30 1,2 1,2 (2,78
-0,22*0,52*0,30
Wtoro no k.. 387:| 87,3 86,1 52,1 34,0 1,2
5,39*2,27 -1,70*0,49
456 | 1 Xonn -0.35%2.66 -0,04*0.20 10,5 10,5 10,5 2,78
2 CaHysen 1,82%1,64 3,0 3,0 3,0 2,78
3 CaHysen 0,87*1,14 1,0 1,0 1,0 2,78
3,50*3,00 -1,74*0,58
4 KyxHs -1,40%0.12 9,3 9,3 9,3 2,78
5 Xunas komHaTa 4,60%4,07 18,7 18,7 18,7 2,78
3,80*3,57 -1,40%0,12
6 XKunas komHaTa -0.39%0.12 -1,38°0,12 13,2 13,2 13,2 2,78
7 YKnnas komHaTa 2,97*5,57 16,5 16,5 | 16,5 2,78
2,80*0,72*0,30
8 BarnkoH +(2,05+2,80)/2*0,80*0,30 1,2 1,2 2,78
-0,46*0,24*0,30
3,00%0,78*0,30
9 BarnkoH +(2,35+3,00)/2*0,70%0,30 1,2 1,2 2,78
-0,58*0,24*0,30
WUtoro no k.. 456:| 74,6 72,2 | 48,4 | 23,8 2,4
457 | 1 Xonn 2,80*5,11 -1,62*3,30 9,0 9,0 9,0 2,78
2 YKnnas komHaTa 3,33*5,58 -1,30%0,12 18,4 18,4 | 18,4 2,78
3 KyxHs 3,99*3,10 -1,42%0,42 11,8 11,8 11,8 2,78
4 | XKunasa komHaTta 3,10*3,99 12,4 124 | 124 2,78
5 apaepobHas 1,20%2,79 3,3 3,3 3,3 2,78
6 CaHysen 1,90%1,54 29 29 29 2,78
7 CaHysen 1,11*1,23 -0,42*0,51 1,2 1,2 1,2 2,78
8 JNopxnsa 3,07*1,49*0,50 2,3 2,3 12,78
WUtoro no k.. 457:| 61,3 59,0 | 30,8 | 28,2 2,3
3,39*3,37 -1,99%1,32
458 | 1 Xonn -2.01%0.13 8,5 8,5 8,5 2,78
2 Xunas komHaTa 3,21*5,59 17,9 179 | 17,9 2,78
3 CaHysen 1,74*1,80 3,1 3,1 3,1 2,78
4 CaHysen 0,90*1,21 1,1 1,1 1,1 2,78
3,67*3,34 -1,40%0,12
5 KyxHs -0.12%0,09 12,1 12,1 12,1 2,78
6 YKnnas komHaTa 3,09%5,00 15,5 15,5 | 15,5 2,78
5,63*1,45*0,50
7 TNopxusa -0.24%0.23%0.50 4.1 4,1 2,78
Wtoro no k.. 458:| 62,3 58,2 | 33,4 | 24,8 4.1
4,44%1,99 +3,27*1,14
459 | 1 Xonn -0.40°0 12 12,5 12,5 12,5 2,78
2 YKnnas komHaTa 6,26*3,21 -1,40%0,12 19,9 19,9 | 19,9 2,78
3 KyxHs 3,21*4,18 -1,51*0,45 12,7 12,7 12,7 2,78
4 | XKunasa komHaTta 4,23%2,99 12,6 12,6 | 12,6 2,78
5 CaHysen 1,35%1,43 -0,43*0,50 1,7 1,7 1,7 2,78
6 CaHysen 1,88%1,89 3,6 3,6 3,6 2,78
1,29*2,91*0,50
7 JNopxnsa +(2,23+1,29)/2*0,97*0,50 3,2 3,2 12,78

+0,69%1,29*0,50




1] [3 ] 4 5 6 7 8 9 10 11 [12] 13 14 |15
WUtoro no k.. 459:| 66,2 63,0 | 32,5 | 30,5 3,2
4,86*3,13 -1,88*2,96
460 | 1 Xonn +2.15*1.08 12,0 12,0 12,0 2,78
2 Xunas komHaTa 5,55*2,80 15,5 155 | 15,5 2,78
3 [apaepobHas 2,15*1,84 4.0 4.0 4.0 2,78
4 Xunas komHaTa 2,80*4,91 13,7 13,7 | 13,7 2,78
5 KyxHs ?6,21503’6?182_?1’ ‘,5(?736,7143 98 | 98 9,8 2,78
6 CaHysen 0,89*1,31 1,2 1,2 1,2 2,78
7 CaHysen 1,89*1,79 3,4 3,4 3,4 2,78
8 Tompxus 1,31*2,73*0,50 1,8 1,8 12,78
WUtoro no k.. 460:| 61,4 59,6 | 29,2 | 30,4 1,8
531 | 1 Xonn 2;?835%;;’)?3:;*32 1,0 | 11,0 11,0 2,78
2 KyxHs 4,63*2,90 -0,57*1,37 12,7 12,7 12,7 2,78
5,17*3,42 -1,41*0,12
3 XKunas komHaTa -1,33%0,12 17,4 174 | 174 2,78
4,40*2,91 -1,34*0,12
4 YXnnas komHaTa 20,6140 12 12,6 12,6 | 12,6 2,78
5 CaHysen 1,30*1,18 -0,38*0,50 1,3 1,3 1,3 2,78
6 CaHysen 1,70*1,79 3,0 3,0 3,0 2,78
7 Xunas komHaTa 2,80*5,14 14,4 14,4 14,4 2,78
8 apaepobHas 2,10*1,93 -1,05*0,57 3,5 3,5 3,5 2,78
0,81*2,99*0,30
9 BankoH +(2,25+2,99)/2*0,73*0,30 1,3 1,3 12,78
-0,52*0,21*0,30
Wtoro no k.. 531:| 77,2 759 | 444 | 31,5 1,3
532 | 1 Xonn 2,08*3,02 -1,00*0,12 6,2 6,2 6,2 2,78
2 CaHysen 1,93*2,42 -0,44*0,77 4,3 4,3 4,3 2,78
3 Xunas komHaTa 3,29*5,80 19,1 19,1 19,1 2,78
3,63*3,01 -1,40*0,12
4 KyxHs 143053 10,0 10,0 10,0 2,78
0,61*3,25*0,30
5 BankoH +(2,56+3,25)/2*0,69*0,30 1,2 1,2 12,78
-0,53*0,18*0,30
WUtoro no k.. 532:| 40,8 39,6 | 19,1 20,5 1,2
533 | 1 Xonn 2,09%1,20 -1,11*0,12 2,4 2,4 2,4 2,78
2 YKnnas komHaTa 3,00%5,79 17,4 174 | 174 2,78
3,62*3,12 -1,91*0,57
3 KyxHs -1,38%0.12 10,0 10,0 10,0 2,78
4 CaHysen 2,10*1,84 3,9 3,9 3,9 2,78
5 Tomxus 6,26*1,30*0,50 41 41 (2,78
Wtoro no kB. 533: 37,8 33,7 | 17,4 | 16,3 41
534 | 1 Xonn 4,06*1,63 -2,14*0,63 53 53 53 2,78
2 CaHysen 2,09*1,80 3,8 3,8 3,8 2,78
3 KyxHs 3,64*2,90 -1,90*0,57 9,5 9,5 9,5 2,78
5,77*3,42 -1,38*0,12
4 XKunas komHaTa -1,00%0,12 19,4 194 | 194 2,78
5 [apaepobHas 1,30%1,90 2,5 2,5 2,5 2,78
0,62*3,22*0,30
6 BankoH +(2,55+3,22)/2*0,68*0,30 1,2 1,2 12,78
-0,53*0,16*0,30
WUtoro no kB. 534:| 41,7 405 | 194 | 211 1,2
2,90*1,50 +3,72*1,01
535 | 1 Xonn +3.00"1,00 11,1 11,1 11,1 2,78
2 apaepobHas 1,87*1,42 2,7 2,7 2,7 2,78
3 Xunas komHaTa 5,21*2,80 14,6 146 | 14,6 2,78
4 CaHysen 1,70*1,70 2,9 2,9 2,9 2,78
5 CaHysen 1,22*1,23 -0,46*0,43 1,3 1,3 1,3 2,78
2,92*4,40 -1,32*0,12
6 XKunas komHaTa -0,64*0.12 12,6 126 | 12,6 2,78
5,16*3,42 -1,31*0,12
YXnnas komHaTa 1,400 12 17,3 17,3 | 17,3 2,78
8 KyxHs 4,65*2,90 -1,38*0,58 12,7 12,7 12,7 2,78
2,98*0,78*0,30
9 BankoH +(2,27+2,98)/2*0,75*0,30 1,3 1,3 12,78
-0,16*0,53*0,30
Wtoro no kB. 535:| 76,5 75,2 | 44,5 | 30,7 1,3
Wrtoro no 14-my ataxy:| 1746,6 |[1691,3(929,4 ( 761,9 | 55,3
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4 5 6 7 8 9 10 11 12 13 14
x| | Jlectnnan 2,31%5,62 13,0 2,78| 13,0
KneTka
Xl TNomxmsa 6,80%1,27 8,6 2,78 8,6
1,72*3,56 -0,39*1,27
XlI'| Mycopokamepa -0.31%0.29 55 2,78| 55
XIV | NucTtoBon xonn 1,69*4,38 7.4 2,78 7.4
1,80*9,87 -1,10*0,28
XV Xonn -0,39*0,33 -0,39*0,27 17,1 2,781 17,1
-0,40%0,32
xvi | TlectHnnan 5,70%2,33 13,3 2,78| 133
KneTka
XVII TNomxma 1,28%6,56 8,4 2,78 84
3,57%1,84 -1,35*0,40
XVIII{ Mycopokamepa -0.27%0 27 6,0 2,78 6,0
XIX | NucbToBon xonn 4,36*1,68 7,3 2,78 7,3
4,50%1,78 -1,06*0,30
+3,43*3,78 +0,78*0,47
XX Xonn -1,91%0,09 +9,65*1,79 37,7 2,78 | 37,7
-0,66*0,29 -0,54*0,42
XXI'| Mycopokamepa 5,61*2,32 13,0 2,78 13,0
XXII TNomxma 1,28%6,73 8,6 2,78 8,6
1,72*3,57 -0,27*0,27
XXIII{ Mycopokamepa -0.40%1.26 5,6 2,78| 5,6
X\)/(I JncptoBown xonn 4,38*1,69 7.4 2,78 7.4
9,81*1,79 -0,26*0,29
XXV Xonn -0,40*0,27 -0,28*0,28 17,0 2,78 17,0
-1,18%0,29
X)I(V JlecTHnuHan 5,63%2,32 13,1 2,78 | 13,1
KneTka
XTI(V TNomxuma 1,27%6,76 8,6 2,78 8,6
XXV 3,568*1,75 -0,27*0,28
I Mycopokamepa -1.24%0 41 57 2,78 57
X>)<(I JncptoBown xonn 4,35*1,67 7,3 2,78 7,3
9,82*1,80 -0,29*0,28
XXX Xonn -0,28*0,40 -1,18*0,29 17,1 2,781 17,1
-0,28*0,27
X)I(X JlecTHnuHan 5,67*2,30 13,0 2,78 13,0
KneTka
Xﬁx TNomxuma 1,26%6,75 8,5 2,78 8,5
XXX 3,60*1,87 -0,27*0,27
il Mycopokamepa -1.26%0 42 6,1 2,78 61
XI)\(/X JncptoBown xonn 4,37*1,70 7.4 2,78 7.4
9,63*1,79 -0,30*0,42
XXX -0,28*0,54 +8,26*3,87
v Xonn 2014531057028 | °2° 2,78 395
-0,06*6,40 +0,43*0,82
XXX| NecTHnuHas 2,32%5,60 13,0 2,78 13,0
\ KneTka
e 6,731,29 8.7 278 87
XXX 3,60%1,75-0,39*1,24
Vil Mycopokamepa -0.25%0.25 5,8 2,78 5,8
XI))((X Jlndptoson xonn 1,69%4,35 7.4 2,78 74
9,89%1,80 -0,32*0,33
XL Xonn -0,27*0,40 -0,32*0,32 17,2 2,78 17,2
-1,05%0,28
Wtoro no 14-my ataxy:| 354,3 354,3
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15 |262| 1 Xonn 36?;(;\:)61,212?6?98;9;,50 126 | 12,6 12,6 2,78
3,24*5,20 -1,40*0,12
2 XKunas komHaTa -0.13%0,12 16,7 16,7 | 16,7 2,78
3 KyxHs 4,56*2,81 -0,56*1,74 11,8 11,8 11,8 2,78
4 CaHysen 0,90%1,33 1,2 1,2 1,2 2,78
5 CaHysen 1,80%1,73 3,1 3,1 3,1 2,78
6 | XXunas komHaTa 5,28*2,81 14,8 14,8 | 14,8 2,78
2,82*1,54*0,50
7 TNopxusa -0.24%0 55%0.50 2,1 21 12,78
Wtoro no k.. 262:| 62,3 60,2 | 31,5 | 28,7 2,1
263 | 1 Xonn 3,73*2,92 -0,96*1,56 9,4 9,4 9,4 2,78
2 lapaepobHas 1,50*1,79 2,7 2,7 2,7 2,78
3 Xunas komHaTa 2,98*5,77 17,2 17,2 17,2 2,78
4 KyxHs 3,42*3,23 -0,57*1,91 10,0 10,0 10,0 2,78
5 CaHysen 1,80*2,78 5,0 5,0 5,0 2,78
1,27*3,06*0,50
6 Tomxus +(2,34+1,31)/2*1,05*0,50 3,3 3,3 [2,78
+0,63*1,31*0,50
Wtoro no k.. 263:| 47,6 443 | 17,2 | 271 3,3
264 | 1 Xonn 2,78*1,33 -1,40*0,12 3,5 3,5 3,5 2,78
2 CaHysen 1,82*2,80 5,1 5,1 5,1 2,78
3,23*3,40 -1,89*0,58
3 KyxHs 1,41%0,12 9,7 9,7 9,7 2,78
4 YKnnas komHaTa 3,10%6,28 19,5 19,5 | 19,5 2,78
3,22*0,53*0,30
5 BankoH +(2,65+3,22)/2*0,79*0,30 1,2 1,2 12,78
-0,54*0,25*0,30
WUtoro no k.. 264:| 39,0 37,8 | 19,5 | 18,3 1,2
2,92*3,31-2,01*0,95
265 | 1 Xonn -0.21%2.02 73 7.3 73 2,78
2 KyxHs 3,20*4,12 13,2 13,2 13,2 2,78
3 CaHysen 1,81*2,35 4,3 4,3 4,3 2,78
4 Xunas komHaTa 3,20*5,53 17,7 17,7 | 17,7 2,78
5 Tomxus 2,85*1,51*0,50 2,2 22 2,78
Wtoro no k.. 265:| 44,7 425 | 17,7 | 24,8 2,2
266 | 1 Xonn 1,33*2,48 -1,40*0,12 3,1 3,1 3,1 2,78
2 Xunas komHaTa 3,10*5,60 17,4 174 | 174 2,78
3,03*3,23-0,12*1,40
3 KyxHs -0,56*1 91 8,6 8,6 8,6 2,78
4 CaHysen 1,83*2,47 4,5 4,5 4,5 2,78
0,77*3,18*0,30
5 BankoH +(2,48+3,18)/2*0,69*0,30 1,3 1,3 12,78
-0,24*0,54*0,30
WUtoro no k.. 266:| 34,9 33,6 | 17,4 | 16,2 1,3
267 | 1 Xonn 1,32*2,46 3,2 3,2 3,2 2,78
2 CaHysen 1,81*2,46 4,5 4,5 4,5 2,78
3 KyxHs 3,08*3,22 -1,90*0,57 8,8 8,8 8,8 2,78
4 | YXunas komHaTa 5,60*3,10 -2,61*0,12 17,1 17,1 17,1 2,78
5 apaepobHas 1,36*1,20 1,6 1,6 1,6 2,78
6 apaepobHas 1,65*1,21 2,0 2,0 2,0 2,78
7 Tompxus 3,14*1,47*0,50 2,3 2,3 2,78
WUtoro no k.. 267:| 39,5 372 | 171 20,1 2,3
268 | 1 Xonn 5,28*1,77 -2,50*0,36 8,5 8,5 8,5 2,78
4,10*3,67 -0,94*0,12
2 YXnnas komHaTa 1414012 14,8 14,8 | 14,8 2,78
3 Xunas komHaTa 4,10*4,60 18,9 18,9 | 18,9 2,78
4 KyxHsi 3’49*?1’?35;%71525*1 A2 93 | 93 9.3 2,78
5 CaHysen 0,90%1,26 1,1 1,1 1,1 2,78




3 4 5 6 7 8 9 10 11 12 13 14 15
6 CaHysen 1,80%1,64 3,0 3,0 3,0 2,78
0,78*2,93*0,30
7 BankoH +(2,18+2,93)/2*0,77*0,30 1,2 1,2 12,78
-0,26*0,56*0,30
WUtoro no k.. 268:| 56,8 55,6 | 33,7 | 21,9 1,2
1,52*2,90 +3,42*1,00
328 | 1 Xonn +1.35%0,07 +2,75"1,93 13,2 13,2 13,2 2,78
2 KyxHs 2,91*4,63 -0,56*1,39 12,7 12,7 12,7 2,78
3 | Kunan kowwara | 37510 WATRIEEN0 ] 65 | 165 | 165 2,78
4 YKnnas komHaTa 5,98*2,99 17,9 179 | 17,9 2,78
5 apaepobHas 1,91*1,60 3,1 3,1 3,1 2,78
6 YKnnas komHaTa 5,91*3,00 17,7 17,7 | 17,7 2,78
7 CaHysen 1,79*1,91 3,4 3,4 3,4 2,78
8 CaHysen 1,23*1,59 -0,40*0,60 1,7 1,7 1,7 2,78
2,98*0,79*0,30
9 BankoH +(2,30+2,98)/2*0,75*0,30 1,3 1,3 12,78
-0,54*0,25*0,30
Wtoro no k.. 328:| 87,5 86,2 | 52,1 341 1,3
2,78*4,36 -3,09*1,60
329 | 1 Xonn +0.120,60 73 73 73 2,78
5,78*3,22 -1,00*0,12
2 XKunas komHaTa -1.39%0,12 18,3 18,3 | 18,3 2,78
3 | Xwunas komHaTta 4,52*2,89 13,1 13,1 13,1 2,78
3,11*2,92 -0,56*1,71
4 KyxHs 1,400 12 8,0 8,0 8,0 2,78
5 CaHysen 0,90%1,28 1,2 1,2 1,2 2,78
6 CaHysen 1,80*1,65 3,0 3,0 3,0 2,78
0,63*3,37*0,30
7 BankoH +(2,75+3,37)/2*0,68*0,30 1,2 1,2 12,78
-0,35*0,25*0,30
Wtoro no k.. 329:| 52,1 50,9 | 31,4 | 19,5 1,2
330 | 1 Xonn 1,18%6,12 7,2 7,2 7,2 2,78
2 apaepobHas 1,19*1,91 2,3 2,3 2,3 2,78
3 KyxHs 3,00*4,52 -1,36*0,55 12,8 12,8 12,8 2,78
4 | Xwunas komHaTa 4’53*?61,32;10’73;%202"10%*2’00 13,6 | 13,6 | 13,6 2,78
5 | Xwunas komHaTa 3,30%4,53 14,9 14,9 | 14,9 2,78
6 [apaepobHas 1,19%1,40 1,7 1,7 1,7 2,78
7 CaHysen 1,24*1,53 -0,43*0,83 1,5 1,5 1,5 2,78
8 CaHysen 1,80%1,92 3,5 3,5 3,5 2,78
0,63*3,28*0,30
9 BankoH +(2,69+3,28)/2*0,68*0,30 1,2 1,2 12,78
-0,29*0,25*0,30
WUtoro no k.. 330:| 58,7 57,5 | 28,5 | 29,0 1,2
2,90*1,52 +1,00*4,72
331 | 1 Xonn +2.10*1,02 11,3 11,3 11,3 2,78
2 [apaepobHas 1,92*1,39 2,7 2,7 2,7 2,78
3 Xunas komHaTa 5,11*2,81 14,4 144 | 144 2,78
4 CaHysen 1,79*1,70 3,0 3,0 3,0 2,78
5 CaHysen 1,31*1,22 -0,42*0,55 1,4 1,4 1,4 2,78
4,40*2,94 -0,64*0,12
6 XKunas komHaTa 1.32°0,12 12,7 12,7 | 12,7 2,78
3,41*5,16 -1,32*0,12
YXnnas komHaTa 1414012 17,3 17,3 | 17,3 2,78
8 KyxHs 2,90*4,64 -0,55*1,39 12,7 12,7 12,7 2,78
2,99*0,78*0,30
9 BankoH +(2,28+2,99)/2*0,75*0,30 1,3 1,3 12,78
-0,24*0,53*0,30
Wtoro no kB. 331: 76,8 75,5 | 444 | 311 1,3
2,90*1,50 +4,72*1,00
388 | 1 Xonn +2.12*1.00 11,2 11,2 11,2 2,78
2 KyxHs 2,89*4,66 -1,37*0,56 12,7 12,7 12,7 2,78
5,17*3,42 -1,32*0,13
YXnnas komHaTa 141013 17,3 17,3 | 17,3 2,78
4,41*2,91 -0,12*0,63
4 XKunas komHaTa 1.33%0,12 12,6 126 | 12,6 2,78
5 CaHysen 1,22*1,23 -0,44*0,47 1,3 1,3 1,3 2,78
6 CaHysen 1,82*1,70 3,1 3,1 3,1 2,78
7 apaepobHas 1,92%1,40 2,7 2,7 2,7 2,78
8 | XXunas komHaTa 5,12*2,80 14,3 14,3 | 14,3 2,78
2,98*0,78*0,30
9 BankoH +(2,25+2,98)/2*0,76*0,30 1,3 1,3 12,78

-0,53%0,24*0,30




1] [3 ] 4 5 6 7 8 9 10 11 [12] 13 14 |15
WUtoro no k.. 388:| 76,5 75,2 | 44,2 | 31,0 1,3
389 | 1 Xonn 1,18%6,14 7,2 7,2 7,2 2,78
2 CaHysen 1,92%1,83 3,5 3,5 3,5 2,78
3 CaHysen 1,21*1,42 -0,39*0,40 1,6 1,6 1,6 2,78
4 apaepobHas 1,18*1,40 1,7 1,7 1,7 2,78
5 YKnnas komHaTa 3,32*4,53 15,0 15,0 | 15,0 2,78
4,53*3,13 -1,39*0,12*2,00
6 YXnnas komHaTa -0,92%0.12*2.00 13,6 13,6 | 13,6 2,78
7 KyxHs 3,00"4,53 -1,38%0,54 12,8 12,8 12,8 2,78
8 [apaepobHas 1,20*1,90 2,3 2,3 2,3 2,78
0,61*3,31*0,30
9 BankoH +(2,63+3,31)/2*0,69*0,30 1,2 1,2 (2,78
-0,26*0,24*0,30
Wtoro no k.. 389:| 58,9 57,7 | 28,6 | 29,1 1,2
4,36*2,79 -3,09*1,62
390 | 1 Xonn 10,12*0,62 7,2 7,2 7,2 2,78
2 CaHysen 1,79%1,64 29 29 29 2,78
3 CaHysen 0,90%1,17 1,1 1,1 1,1 2,78
3,13*2,93 -1,41*0,12
4 KyxHs 20,5572 8,1 8,1 8,1 2,78
5 Xunas komHaTa 4,54*2,90 13,2 13,2 13,2 2,78
5,79*3,21 -1,00%0,12
6 XKunas komHaTa -1.38%0,12 18,3 18,3 | 18,3 2,78
0,61*3,34*0,30
7 BarnkoH +(2,67+3,34)/2*0,69*0,30 1,2 1,2 2,78
-0,26*0,24*0,30
WUtoro no k.. 390:| 52,0 50,8 | 31,5 | 19,3 1,2
2,90*1,49 +1,00*3,43
391 | 1 Xonn +1.33°0.10 +2,73"1,92 13,1 13,1 13,1 2,78
2 CaHysen 1,22*1,45 -0,41*0,45 1,6 1,6 1,6 2,78
3 CaHysen 1,93%1,80 3,5 3,5 3,5 2,78
4 Xunas komHaTa 5,92*3,00 17,8 17,8 | 17,8 2,78
5 [apoepobHas 1,92*1,61 3,1 3,1 3,1 2,78
6 Xunas komHaTa 3,00%5,98 17,9 179 | 17,9 2,78
5,17*3,34 -1,39%0,12
7 Xunas komHaTa -1,34*0,12 -1,32*0,12 16,6 16,6 16,6 2,78
-1,40%0,12
8 KyxHs 2,90*4,67 -1,36*0,56 12,8 12,8 12,8 2,78
0,76*2,98*0,30
9 BankoH +(2,27+2,98)/2*0,74*0,30 1,2 1,2 2,78
-0,22*0,52*0,30
Wtoro no k.. 391:| 87,6 86,4 | 52,3 | 341 1,2
5,41*2,26 -1,74*0,51
461 | 1 Xonn 0.35°2.65 10,4 10,4 10,4 2,78
2 CaHysen 1,80%1,65 3,0 3,0 3,0 2,78
3 CaHysen 0,90*1,19 1,1 1,1 1,1 2,78
3,49*2,99 -1,72*0,57
4 KyxHs 1,40%0.13 9,3 9,3 9,3 2,78
4,72*4,10 -0,93*0,13
XKunas komHaTa 1.41%0.13 19,1 19,1 19,1 2,78
6 | Xunasa komHaTa 3,67*3,61-1,42*0,12 13,1 13,1 13,1 2,78
7 YKnnas komHaTa 2,98*5,61 16,7 16,7 | 16,7 2,78
2,80*0,72*0,30
8 BankoH +(2,05+2,80)/2*0,80*0,30 1,2 1,2 2,78
-0,46*0,24*0,30
3,00%0,78*0,30
9 BankoH +(2,35+3,00)/2*0,70%0,30 1,2 1,2 2,78
-0,58*0,24*0,30
WUtoro no k.. 461:| 75,1 72,7 | 48,9 | 23,8 2,4
462 | 1 Xonn 2,82*5,14 -1,62*3,35 9,1 9,1 9,1 2,78
2 | Xunasa komHaTa 3,33*5,62 -1,38%0,12 18,5 18,5 | 18,5 2,78
3 KyxHs 3,94*3,09 -1,44%0,42 11,6 11,6 11,6 2,78
4 | XKunasa komHaTta 3,09*3,96 12,2 12,2 | 12,2 2,78
5 apaepobHas 1,18*2,79 3,3 3,3 3,3 2,78
6 CaHysen 1,92%1,54 3,0 3,0 3,0 2,78
7 CaHysen 1,08%1,24 -0,45*0,45 1,1 1,1 1,1 2,78
8 JNopxnsa 3,07*1,49*0,50 2,3 2,3 12,78
Wtoro no k.. 462:| 61,1 58,8 | 30,7 | 28,1 2,3
3,41*3,42 -1,99%1,32
463 | 1 Xonn -2,00%0.12 8,8 8,8 8,8 2,78
2 Xunas komHaTa 3,21*5,57 17,9 179 | 17,9 2,78
3 CaHysen 1,71*1,87 3,2 3,2 3,2 2,78
4 CaHysen 0,88*1,21 1,1 1,1 1,1 2,78




3 4 5 6 7 8 9 10 11 12 13 14 15
3,65*3,33 -1,38%0,12
5 KyxHs -0.13*0.10 12,0 12,0 12,0 2,78
6 Xunas komHaTa 3,10%4,97 15,4 154 | 154 2,78
5,63*1,45*0,50
7 Nomxnsa -0.24*0,23*0 50 4.1 41 12,78
WUtoro no kB. 463:| 62,5 58,4 | 33,3 | 25,1 4.1
4,45*2,00 +3,24*1,10
464 | 1 Xonn -0.36%0.11 12,4 12,4 12,4 2,78
2 Xunas komHaTa 6,26*3,20 -1,40*0,12 19,9 19,9 19,9 2,78
3 KyxHs 3,24*4,18 -1,50%0,43 12,9 12,9 12,9 2,78
4 Xunas komHaTa 4,29*2,98 12,8 12,8 | 12,8 2,78
5 CaHysen 1,36%1,45 -0,43*0,50 1,8 1,8 1,8 2,78
6 CaHysen 1,86*1,86 3,5 3,5 3,5 2,78
1,29%2,91*0,50
7 TNopxunsa +(2,23+1,29)/2*0,97*0,50 3,2 3,2 12,78
+0,69*1,29*0,50
Wtoro no k.. 464:| 66,5 63,3 | 32,7 | 30,6 3,2
4,87*3,13 -1,88*2,97
465 | 1 Xonn +2,16*1,09 12,0 12,0 12,0 2,78
2 YKnnas komHaTa 5,54*2,80 15,5 15,5 | 15,5 2,78
3 apaepobHas 2,16*1,82 3,9 3,9 3,9 2,78
4 YKnnas komHaTa 2,80%4,91 13,7 13,7 | 13,7 2,78
3,27*3,39 -0,55%1,72
5 KyxHs1 0.13%0.12 -1,06°0,12 10,0 10,0 10,0 2,78
6 CaHysen 0,90*1,32 1,2 1,2 1,2 2,78
7 CaHysen 1,89%1,80 3,4 3,4 3,4 2,78
8 TNopxusa 1,31*2,73*0,50 1,8 1,8 [2,78
Wtoro no k.. 465:| 61,5 59,7 | 29,2 | 30,5 1,8
Wroro no 15-my ataxy:| 1201,6 |[1164,3( 641,9 | 522,4 | 37,3
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4 5 6 7 8 9 10 11 12 13 14
xvl | J1ecTHudnan 5,70"2,33 13,3 278 13,3
KneTka
XVII TNomxmsa 1,28%6,56 8,4 2,78 84
3,57*1,84 -1,35%0,40
XVIII{ Mycopokamepa -0.27%0.27 6,0 2,78 6,0
XIX | NucbToBon xonn 4,36*1,68 7,3 2,78 7,3
4,50*1,78 -1,06*0,30
+3,43*3,78 +0,78*0,47
XX Xonn -1,91%0,09 +9,65*1,79 37,7 2,78 | 37,7
-0,66*0,29 -0,54*0,42
XXI'| Mycopokamepa 5,61*2,32 13,0 2,78 13,0
XXl TNomxma 1,28%6,73 8,6 2,78 8,6
1,72*3,57 -0,27*0,27
XXIII{ Mycopokamepa -0.40%1.26 5,6 2,78| 5,6
X\)/(I JncptoBown xonn 4,38*1,69 7.4 2,78 7.4
9,81*1,79 -0,26*0,29
XXV Xonn -0,40*0,27 -0,28*0,28 17,0 2,78 17,0
-1,18*0,29
X)I(V JlecTHnuHan 5,63%2,32 13,1 2,78 | 13,1
KneTka
XTI(V Topxuna 1,27*6,76 8,6 2,78 8,6
XXV 3,58*1,75 -0,27%0,28
I Mycopokamepa -1.24%0 41 57 2,78 57
X>)<(I JncptoBown xonn 4,35*1,67 7,3 2,78 7,3
9,82*1,80 -0,29*0,28
XXX Xonn -0,28*0,40 -1,18*0,29 17,1 2,781 17,1
-0,28*0,27
X)I(X JlecTHnuHan 5,67*2,30 13,0 2,78 13,0
KneTka
XiI(X Topxuna 1,26*6,75 8,5 2,78 8,5
XXX 3,60*1,87 -0,27*0,27
i Mycopokamepa -1.26%0 42 6,1 2,78 61
XI)\(/X JncptoBown xonn 4,37*1,70 7.4 2,78 7.4
9,63*1,79 -0,30%0,42
XXX -0,28*0,54 +8,26*3,87
v Xonn 2014531057028 | °9° 2,78 395
-0,06*6,40 +0,43*0,82
Wtoro no 15-my ataxy:| 250,6 250,6
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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
16 |269 | 1 Xonn 36?3(;?61,222+ch?89é1,728 127 | 12,7 12,7 2,78
3,24*5,16 -1,40*0,12
2 XKunas komHaTa -0.13%0,12 16,5 16,5 | 16,5 2,78
3 KyxHs 4,55*2,80 -0,57*1,74 11,8 11,8 11,8 2,78
4 CaHysen 0,90%1,22 1,1 1,1 1,1 2,78
5 CaHysen 1,80%1,70 3,1 3,1 3,1 2,78
6 | XXunas komHaTa 5,28*2,80 14,8 14,8 | 14,8 2,78
2,82*1,54*0,50
7 TNopxusa -0.24%0 55%0.50 2,1 21 12,78
Wtoro no k.. 269:| 62,1 60,0 | 31,3 | 28,7 2,1
270 | 1 Xonn 3,74*2,91 -1,00*1,53 9,4 9,4 9,4 2,78
2 lapaepobHas 1,51*1,80 2,7 2,7 2,7 2,78
3 Xunas komHaTa 2,99*5,77 17,3 17,3 | 17,3 2,78
4 KyxHs 3,42*3,21 -0,56*1,91 9,9 9,9 9,9 2,78
5 CaHysen 1,80*2,79 5,0 5,0 5,0 2,78
1,27*3,06*0,50
6 Tomxus +(2,34+1,31)/2*1,05*0,50 3,3 3,3 [2,78
+0,63*1,31*0,50
Wtoro no k.. 270:| 47,6 443 | 17,3 | 27,0 3,3
271 | 1 Xonn 2,79*1,31 -1,40*0,12 3,5 3,5 3,5 2,78
2 CaHysen 1,83*2,78 5,1 5,1 5,1 2,78
3,23*3,40 -1,93*0,57
3 KyxHs -1,39%0.12 9,7 9,7 9,7 2,78
4 | YXunas komHaTa 3,10%6,27 19,4 194 | 194 2,78
3,22*0,53*0,30
5 BankoH +(2,65+3,22)/2*0,79*0,30 1,2 1,2 12,78
-0,54*0,25*0,30
Wtoro no k.. 271:| 38,9 37,7 | 19,4 | 18,3 1,2
272 | 1 Xonn 2 o0 74 | 74 7,4 2,78
2 KyxHs 3,19*4 17 13,3 13,3 13,3 2,78
3 CaHysen 1,79*2,36 4,2 4,2 4,2 2,78
4 Xunas komHaTa (5,48+5,50)/2*3,19 17,5 17,5 17,5 2,78
5 Tomxus 2,85*1,51*0,50 2,2 22 2,78
Wtoro no k.. 272:| 44,6 424 | 17,5 | 249 2,2
273 | 1 Xonn 1,32*2,48 -1,40*0,12 3,1 3,1 3,1 2,78
2 Xunas komHaTa 3,10*5,61 17,4 174 | 174 2,78
3 KyxHsi 3’03*?6?526-*(1’,1920*1 39 85 | 85 8,5 2,78
4 CaHysen 1,82*2,47 4,5 4,5 4,5 2,78
0,77*3,18*0,30
5 BankoH +(2,48+3,18)/2*0,69*0,30 1,3 1,3 12,78
-0,24*0,54*0,30
WUtoro no k.. 273:| 34,8 335 | 17,4 | 16,1 1,3
274 | 1 Xonn 1,30%2,48 3,2 3,2 3,2 2,78
2 CaHysen 1,84*2,47 4,5 4,5 4,5 2,78
3 KyxHs 3,04*3,22 -1,90*0,57 8,7 8,7 8,7 2,78
4 | YXunas komHaTa 5,55*3,11 -2,59*0,12 17,0 17,0 | 17,0 2,78
5 apaepobHas 1,36*1,21 1,6 1,6 1,6 2,78
6 apaepobHas 1,66*1,22 2,0 2,0 2,0 2,78
7 Tompxus 3,14*1,47*0,50 2,3 2,3 2,78
WUtoro no k.. 274:| 39,3 37,0 | 17,0 | 20,0 2,3
275 | 1 Xonn 5,28*1,75 -2,50%0,33 8,4 8,4 8,4 2,78
4,11*3,67 -0,94*0,12
2 YXnnas komHaTa 1414012 14,8 14,8 | 14,8 2,78
3 Xunas komHaTa 4,09*4,58 18,7 18,7 | 18,7 2,78
4 KyxHsi 3’49*?1’?%;%71526*1 38 92 | 92 9,2 2,78
5 CaHysen 0,92*1,21 1,1 1,1 1,1 2,78




3 4 5 6 7 8 9 10 11 12 13 14 15
6 CaHysen 1,77*1,66 2,9 2,9 2,9 2,78
0,78*2,93*0,30
7 BankoH +(2,18+2,93)/2*0,77*0,30 1,2 1,2 12,78
-0,26*0,56*0,30
WUtoro no k.. 275:| 56,3 55,1 33,5 | 21,6 1,2
1,51*2,91 +3,43*1,01
332 | 1 Xonn +1.33°0.10 +2,73*1,90 13,2 13,2 13,2 2,78
2 KyxHs 2,90*4,64 -0,56*1,37 12,7 12,7 12,7 2,78
3 XKunas komHaTa 33_‘2*291,%'1133_?*211%*3200 16,6 16,6 | 16,6 2,78
4 YKnnas komHaTa 5,98*3,00 17,9 179 | 17,9 2,78
5 apaepobHas 1,92*1,60 3,1 3,1 3,1 2,78
6 YKnnas komHaTa 5,91*3,00 17,7 17,7 | 17,7 2,78
7 CaHysen 1,79%*1,92 3,4 3,4 3,4 2,78
8 CaHysen 1,23*1,54 -0,56*0,41 1,7 1,7 1,7 2,78
2,98*0,79*0,30
9 BankoH +(2,30+2,98)/2*0,75*0,30 1,3 1,3 12,78
-0,54*0,25*0,30
Wtoro no k.. 332:| 87,6 86,3 | 52,2 | 341 1,3
2,78*4,37 -3,10*1,60
333 | 1 Xonn +0.120,60 73 73 73 2,78
5,78*3,23 -1,00*0,12
2 XKunas komHaTa -1.38%0,12 18,4 184 | 184 2,78
3 | Xwunas komHaTta 4,53*2,91 13,2 13,2 | 13,2 2,78
3,12*2,92 -0,56*1,73
4 KyxHs 1,380 12 8,0 8,0 8,0 2,78
5 CaHysen 0,89*1,19 1,1 1,1 1,1 2,78
6 CaHysen 1,80*1,65 3,0 3,0 3,0 2,78
0,63*3,37*0,30
7 BankoH +(2,75+3,37)/2*0,68*0,30 1,2 1,2 12,78
-0,35*0,25*0,30
Wtoro no k.. 333:| 52,2 51,0 | 31,6 | 19,4 1,2
334 | 1 Xonn 1,18%6,13 7,2 7,2 7,2 2,78
2 apaepobHas 1,19*1,90 2,3 2,3 2,3 2,78
3 KyxHs 3,00*4,53 -1,36*0,58 12,8 12,8 12,8 2,78
4,52*3,14 -1,40*0,12*2,00
4 XKunas komHaTa -0,93%0,12*2,00 13,6 136 | 13,6 2,78
5 | Xwunas komHaTa 3,28*4,53 14,9 14,9 | 14,9 2,78
6 [apaepobHas 1,17*1,40 1,6 1,6 1,6 2,78
7 CaHysen 1,22*1,49 -0,43*0,78 1,5 1,5 1,5 2,78
8 CaHysen 1,83*1,92 3,5 3,5 3,5 2,78
0,63*3,28*0,30
9 BankoH +(2,69+3,28)/2*0,68*0,30 1,2 1,2 12,78
-0,29*0,25*0,30
WUtoro no k.. 334:| 58,6 57,4 | 28,5 | 28,9 1,2
2,90*1,50 +1,00*4,72
335 | 1 Xonn +2.10*1,02 11,2 11,2 11,2 2,78
2 [apaepobHas 1,92*1,38 2,6 2,6 2,6 2,78
3 | XXunas komHaTa 5,09*2,81 14,3 14,3 | 14,3 2,78
4 CaHysen 1,79*1,70 3,0 3,0 3,0 2,78
5 CaHysen 1,27*1,22 -0,44*0,48 1,3 1,3 1,3 2,78
4,38*2,94 -0,61*0,12
6 XKunas komHaTa 1.32°0,12 12,7 12,7 | 12,7 2,78
3,41*5,17 -1,32*0,12
YXnnas komHaTa 1,390 12 17,3 17,3 | 17,3 2,78
8 KyxHs 2,90*4,67 -0,57*1,37 12,8 12,8 12,8 2,78
2,99*0,78*0,30
9 BankoH +(2,28+2,99)/2*0,75*0,30 1,3 1,3 12,78
-0,24*0,53*0,30
Wtoro no kB. 335:| 76,5 75,2 | 44,3 | 30,9 1,3
2,90*1,50 +4,72*1,00
392 | 1 Xonn +2.11*1,00 11,2 11,2 11,2 2,78
2 KyxHs 2,90*4,67 -1,37*0,57 12,8 12,8 12,8 2,78
5,18*3,42 -1,33*0,12
YXnnas komHaTa 1417012 17,4 174 | 174 2,78
4,41*2,91 -0,13*0,65
4 XKunas komHaTa 1.32°0,13 12,6 126 | 12,6 2,78
5 CaHysen 1,22*1,22 -0,44*0,43 1,3 1,3 1,3 2,78
6 CaHysen 1,82*1,70 3,1 3,1 3,1 2,78
7 apaepobHas 1,92%1,42 2,7 2,7 2,7 2,78
8 | XXunas komHaTa 5,10*2,80 14,3 14,3 | 14,3 2,78
2,98*0,78*0,30
9 BankoH +(2,25+2,98)/2*0,76*0,30 1,3 1,3 12,78

-0,53%0,24*0,30




1] [3 ] 4 5 6 7 8 9 10 11 [12] 13 14 |15
WUtoro no k.. 392:| 76,7 754 | 44,3 | 311 1,3
393 | 1 Xonn 1,18%6,13 7,2 7,2 7,2 2,78
2 CaHysen 1,92%1,84 3,5 3,5 3,5 2,78
3 CaHysen 1,20%1,42 -0,39*0,42 1,5 1,5 1,5 2,78
4 apaepobHas 1,18*1,40 1,7 1,7 1,7 2,78
5 YKnnas komHaTa 3,30"4,54 15,0 15,0 | 15,0 2,78
4,53*3,15 -1,39*0,12*2,00
6 YXnnas komHaTa -0,92*0.12 -0,93*0.12 13,7 13,7 | 13,7 2,78
7 KyxHs 2,99*4,53 -1,37*0,56 12,8 12,8 12,8 2,78
8 [apaepobHas 1,20*1,90 2,3 2,3 2,3 2,78
0,61*3,31*0,30
9 BankoH +(2,63+3,31)/2*0,69*0,30 1,2 1,2 (2,78
-0,26*0,24*0,30
Wtoro no k.. 393:| 58,9 57,7 | 28,7 | 29,0 1,2
4,35*2,78 -3,06*1,58
394 | 1 Xonn +0,12*0,58 7,3 7,3 7,3 2,78
2 CaHysen 1,80%1,64 3,0 3,0 3,0 2,78
3 CaHysen 0,90*1,19 1,1 1,1 1,1 2,78
3,12*2,94 -1,39*0,13
4 KyxHs 20,5574 8,0 8,0 8,0 2,78
5 Xunas komHaTa 4,54*2,90 13,2 13,2 13,2 2,78
5,79*3,21 -1,00%0,13
6 XKunas komHaTa -1.39°0,13 18,3 18,3 | 18,3 2,78
0,61*3,34*0,30
7 BarnkoH +(2,67+3,34)/2*0,69*0,30 1,2 1,2 2,78
-0,26*0,24*0,30
WUtoro no k.. 394:| 52,1 50,9 | 31,5 | 19,4 1,2
2,90*1,51 +0,99*3,41
395 | 1 Xonn +1.33%0,07 +2.71*1,93 13,1 13,1 13,1 2,78
2 CaHysen 1,23*1,49 -0,40*0,45 1,7 1,7 1,7 2,78
3 CaHysen 1,92%1,80 3,5 3,5 3,5 2,78
4 Xunas komHaTa 5,92*3,00 17,8 17,8 | 17,8 2,78
5 [apoepobHas 1,92*1,60 3,1 3,1 3,1 2,78
6 Xunas komHaTa 3,00%5,98 17,9 179 | 17,9 2,78
5,19*3,32 -1,41*0,12*2,00
7 XKunas komHaTa -1.32%0,13*2,00 16,6 16,6 | 16,6 2,78
8 KyxHs 2,90*4,67 -1,37%0,56 12,8 12,8 12,8 2,78
0,76*2,98*0,30
9 BarnkoH +(2,27+2,98)/2*0,74*0,30 1,2 1,2 2,78
-0,22*0,52*0,30
WUtoro no k.. 395:| 87,7 86,5 | 52,3 | 34,2 1,2
5,43*2,28 -1,73*0,47
466 | 1 Xonn -0,36%2.68 -0,20*0,05 10,6 10,6 10,6 2,78
2 CaHysen 1,80*1,64 3,0 3,0 3,0 2,78
3 CaHysen 0,91*1,19 1,1 1,1 1,1 2,78
3,50*2,98 -1,72*0,57
4 KyxHs 1.39%0,12 9,3 9,3 9,3 2,78
5 YKnnas komHaTa 4,59%4,08 18,7 18,7 | 18,7 2,78
3,79*3,60 -1,40%0,12*2,00
6 YXnnas komHaTa -0,40%0.12 13,3 13,3 | 13,3 2,78
7 Xunas komHaTa 2,95%5,62 16,6 16,6 16,6 2,78
2,80*0,72*0,30
8 BankoH +(2,05+2,80)/2*0,80*0,30 1,2 1,2 2,78
-0,46%0,24*0,30
3,00%0,78*0,30
9 BankoH +(2,35+3,00)/2*0,70%0,30 1,2 1,2 2,78
-0,58*0,24*0,30
Wtoro no k.. 466:| 75,0 72,6 | 48,6 | 24,0 2,4
467 | 1 Xonn 2,78*5,12 -1,61*3,34 8,9 8,9 8,9 2,78
2 Xunas komHaTa 3,35*5,64 -1,39*0,12 18,7 18,7 18,7 2,78
3 KyxHs 3,97*3,10 -1,47%0,42 11,7 11,7 11,7 2,78
4 Xunas komHaTa 3,09*3,98 12,3 12,3 | 12,3 2,78
5 [apaepobHas 1,19*2,80 3,3 3,3 3,3 2,78
6 CaHysen 1,96*1,53 3,0 3,0 3,0 2,78
7 CaHysen 1,12*1,22 -0,48*0,43 1,2 1,2 1,2 2,78
8 TNopxusa 3,07*1,49*0,50 2,3 2,3 12,78
Wtoro no k.. 467:| 61,4 59,1 31,0 | 28,1 2,3
3,38*3,34 -2,01*0,08
468 | 1 Xonn 2.01*1,34 8,4 8,4 8,4 2,78
2 | Xunasa komHaTa 3,20%5,62 18,0 18,0 | 18,0 2,78
3 CaHysen 1,75%1,80 3,2 3,2 3,2 2,78
4 CaHysen 0,90*1,16 1,0 1,0 1,0 2,78




3 4 5 6 7 8 9 10 11 12 13 14 15
3,66*3,33 -1,39%0,12
5 KyxHs -0.12%0.07 12,0 12,0 12,0 2,78
6 Xunas komHaTa 3,10%4,98 15,4 154 | 154 2,78
5,63*1,45*0,50
7 Nomxnsa -0.24*0,23*0 50 4.1 41 12,78
WUtoro no k.. 468:| 62,1 58,0 | 33,4 | 24,6 4.1
4,42*2,01 +3,24*1,12
469 | 1 Xonn -0.38%0.12 12,5 12,5 12,5 2,78
2 Xunas komHaTa 6,26*3,22 -1,40%0,12 20,0 20,0 | 20,0 2,78
3 KyxHs 3,21*4,16 -1,50%0,44 12,7 12,7 12,7 2,78
4 Xunas komHaTa 4,27*2,95 12,6 126 | 12,6 2,78
5 CaHysen 1,30%1,38 -0,43*0,42 1,6 1,6 1,6 2,78
6 CaHysen 1,88%1,92 3,6 3,6 3,6 2,78
1,29%2,91*0,50
7 TNopxunsa +(2,23+1,29)/2*0,97*0,50 3,2 3,2 12,78
+0,69*1,29*0,50
Wtoro no k.. 469:| 66,2 63,0 | 32,6 | 30,4 3,2
4,88%3,12 -1,89*2,96
470 | 1 Xonn +2,15*1.10 12,0 12,0 12,0 2,78
2 YKnnas komHaTa 5,56*2,80 15,6 15,6 | 15,6 2,78
3 apaepobHas 2,15*1,83 3,9 3,9 3,9 2,78
4 | XKunasa komHaTta 2,80%4,93 13,8 13,8 | 13,8 2,78
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MpOLWKUTO, NPOHYMEROBAHO ¥ CKPENieHo
NEeYaThbio Ha vcTax






